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INSTRUCTIONS TO CANDIDATES
1 (a) Candidates are allowed 10 minutes to

. fillup the basic information about
themselves in theOMltanswer sheet such
.as Name, Roll No. etc.

(b) After this, question bookletwill be given
to the candidates they are required to.do
the following; .
(i)Exa.i~~klot_to see that

all<.pa~. seal$ at the. edge of the
booklet are intact. Do Dot accept the
questionbOOkletif sticket seals are
no.~·

(ii) TallY~$Pltlberofpages alongwith
no. ofQ~ons printed on cover of
thebOOtl4 .

(iii) Checktltal~onbook1etcontains
the qu~ons Qiall re~~apts.ubj~tsI
topics as required and stated in the
~ and n6repetition or omission
of questions lS evident,

_n case. of any ditcrepancy
pl~se<·~t .tlte "ooklet cilanged.
·1'his-shc)uktbe _ Within 5minutes

. of receivilJ8 .the quest,ion booklet,
after which neither the question
booklet will be .repla~ed.,~,.~r
extrathne tie given.· .

13IRUYAJ)Il ....A) .[Contd •••



r
I

r

(iv) After examining the questionb60ldet
please-enter the Serial No. of$e
question booklet at the appropriate'
place in the answer sheet and the
corresponding circles be darkened
with Black ball-point pen. ,

(c) Candidates are not permitted to mark
answers in the Answer Sheet in these
15 minutes. Three Hours more will be
given for marking all the answers.

, 2
2 (a) On page I of Answer Sheet in upper half

portion, write Name,Roll No, Name of
Exam Centre, Date of Exam and Sr. No.
of Question Booklet supplied to you. Put
your signatures also. On the lower half
portion of this page fill in the bOjeesDof
the first topmost line in capital letters,your
surname and name (in English). Writeone
letter in each box D Below each letter
darkenwith Blackball-point pen the circle
obearing same letter.

(b) On page 20f Answer Sheet filliri your
Roll No., etc. by writing in the 0 and
below it by darkening corresponding O.

(c) On page 2 of Answer Sheet only the
answers tcqnestions are to bemarked. The
.instructions for this are available on the
back cover page of this question booklet.

(d) All entries to be made by Black ball-point
pen. .

3 Optical Mark Reader (OMR) machine, 3
prepares the result by readirigthe entries made
in the circles0with the Blackball-point pen'
on page I and 2 of the Answer Sheet, hence
the candidate must be extremely careful in
marking these 'entries and must not commit
errors.

(iv) V~";f-~ t ~ t ~ V~";f-

~ q;r ~ ~. ire\-~ lf
~ ~ ~ Black ball-point ~-«
~ 1ffi;i\' q;) .n: I

(If) l:tfmnrrt'q~t 15 ~ <tr '{« ~ lf
ire\ ~~ <tr ~'itYtl ~ \R'I\

~ mt ~ tR' ~q;r"ijll<f i3frt ~
~I'

(<6) ~lftire\ ...•~t~ 1t~l3ri~
~ 13llAT;m:r, "ffi;r of., WIffi q;r;m:r, WIffi

~ em 'fIlT,WIffi ~ ~ ~~";f-~ <tr
1ilr ~ ~ ~ Im 'f(\'IT1ff\ ~ ~ I

~~t~ \31Ttl ~ lfm i3)q\ cir
\iI'l'{Of l{ ~ 0~~ ~ t ~
m~iIDRT, ~ ~ ';fIJf ~ I 1:l,C6 0
1IR lf~ It allff\~, fT6T~ ~t
~ i3"dT aTlff\ <mY0 ~ q;) Black Ball-
Point ~ -« tTro C6mTm .n:I

(w) ~~~fR: t TSO,2 'q'"{-mr of., ~ 0
m -q" ftim" ~ ~1tf\rn0 ~ <61
Black ball-point ~% ?$RiIl •.~ \

(If) \R'I\ -~ t ~ 2 'q'"{v~-rrt ire\ ~

mtl~~~~~~vr-r~t
~~~tl

(tr) ~ IIPciftlqj Black ball-point ~ % ~
~~I

~ 1tlt ""fret (OMR) lf~fr;rm-~ $I
Black Ball-Poirit ~ % .n:~OcCr IIPciftllN .
qft~w~~ctmfrt. om:w~
q;)~~~tPc!;tm-~~t~ 1q
2''q'"{ lIPc1ftll{'j q;) ~ ~'Ifr-~ ~
m~.~.~ Of qIT\

4 Please do not write anything extra except 4 ire\-~'q'"{~~'q'"{TITtrlft IIPciftlqj
what is asked for. ~ t ~ P Of WI

---Z"-....--

5 USE OF ANY CALCULATOR, LOG
TABLES OR ANY OTHER ELECTRONIC 5
GADGETS,'" MOBILE PHONES IS
PROHffilTED.

6 Roughwork shouldbedoneon the blank pages 6
provided after each section or subject. Extra
paper will not be supplied. ,

(For instru~titm~ regarding marking the
answers please see the back covet page of this

Question Booklet),
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~tl
\C6l1il<f '{«V~";f-~t ~ ~~~
'qTlf lIT~ tlfTCf ~ lM,tlft ~ iif11if

'q'"{ '!61' \ ~ ~ \1f~f1:Cffl~ "liT ~ ~ \

(ifflf ~ mt #If!" fiVl11 J1~"~ t I/t9"
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ri200 "Sf~-.=iY1IT'~. m?fIT ~ : 3.00 ~
Time for marking all 200 Questions: '3.00 Hours

" ,

~~:200
MaximumMarks: 200

13/RUYADR' ·111108 __ 1111111111111111

1 ~ "Sf~-;:f-q-,f 11 it 'tWTt
. 'tWT-~ t '~ ~faa6) ~TR?J : "Sf:R>.01 -« 50 ~

,'~ ~l'R?f : "Sf.16. 51 -« 100 t a~
'q'pT~~ t~ m~lR?r : "Sf.16. 101 -« 150 ~'

, Cj'1wRl~lR?r: "Sf.16. 151 -« 200 I

2 ~ "Sf~"f-q"Sf11 J'l'f 200 "Sf~"f,~ 1 -« 200aq;: t' ~'~~ "Sf~"f~ ,13tCF;
, ?fIT t I ~ "Sf~"f~ f I ~ :[OIlt'1Cb ,'l\(I(4jf6'1 ,o:rtft I ,

3 "Sf~"f~ftaqH t 1f6OTa~ "Sf~-;-flqft ~l ?it )~~ Tso lITtf ~' thm\3ll'
-« ~ ~ I ~~ -tT "Sf~"f g;ftaCbll1 ri ~ ~ I 'q'J1T"mu ft6 ~ ~
TflTTt ,t "Sf~~ ijfb:t~d l ~~~"f ~ ~'-aT' ~'i" ~ "Sf~"f,~. -tT "If(
t ~ r6t ~ ~",~ -« rRl '

4 "Sf~~ g;rtaCbI 11 fctRft ~ "c6T ~. ~ IlfRlIT. ~ "Sferq 15 ,.,~ 11 Ei&(f(Cb{
'~"Sf~';f 9,futCbl tf· ~I

5 "Sf~"f-q"Sf~ ~, t m- "Sf~"fg;~Cblt ~ '1[60 lIT ~ '~~iY qff
t41'1'(4Cb ~ ~ ~~~ -« ~ ~Ilf~';fi ~ ~~ ,1ft' aTr.~.am:.
\ffi"{ rill' -qt ~~I;i\i~Cfi ~ ~ ~ 1\ ~.~ I

6 ~ cqr~ C6T~(iI~\'ll{, '1)iSn~(iI'~ ~ Mcqr VC6Ttt~ ~m
I3qCb{OI'~ ~ t~ ~ C6T.'~ ~ ~ t I "

NOTE
1 This paper has Two Sections, In

Section-A Physics: Q. No. 01 to 50 and
.Chemistry : Q. No.' 51 to. 100 are included.' Accordingly in

Section-B Zoology: Q: No. 101 to 150 and '
Botany : Q. No. 151 to 200 are included.

2 This question booklet contains 200 questions numbered from 1 to 200 and
each question carry 01 mark. All questions are compWs9ry. There is no
negative marking. ' . ,

3 Tally the number of pages alongwith no.' of questions printed on cover page
of the booklet. Also check that question booklet contains the questions of
all relevant su~jects/topics, as required and stated above and no repetition
or omission of questions is evident. ) . .

4 If any discrepancy is found in the Question booklet the same can be replaced
with another correct question booklet.within first 15 minutes.

5 Before answering the questions please read carefullythe instructions printed
on the back cover page of the, question booklet and strictly follow them.
Indicate your answers by blacking, bubbles carefully only on the
O.M.R. Answer Sheet provided. .

'6 Use of any type of calculator, mobile phone or any other electronic equipment
and log table etc.' is strictly prohibited. " ~~1. .
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1 surr., TenSio,ti,$j$lrfaceenergyVper unit:
(A) length (B) area
(C) volume (D) mass
T<S-~ t1f6O-~~ ~.
(A)~ (B) ~
(C) ~ (D) ,$tel/Ii''''

I
I
I
I
~

!
2 The escape speed 'of a body from-the Earth .depends on :

(A) mass of the body
'- (B) mass of the Earth

(C) the direction of projection ,
(D) the height of the location'from where the body is launched
M ~"C6T1f1frt,~ ~.~ ,ctmff t
(A) ~. ~. $tel/Ii'''' 1R (B) "'lf1frt $t&4"1''''If{
(C)' tt ~ 'cCr~~TT 1R (D) ~,~ fq-ag _~ 1}"qJ t .

3 Figure shows a block of mass M. attached .to a massless spring of spring
constant K and resting on a smooth horizontal surface. The, other end
of the spring is fixed toa rigid wall. the block .isgiven a maximum
displacement ~. The maximum'speed of the block is :
.~ ~~ ¥ $tel/liI1~~qIT $tel/Iii•••mam Kf6i1T fitQdienCffiift f6i1T
-« -erctar~ ~ em If{ ~ fa:w;rr ~ t I fWrr "C6T~ ft:m ~ ¥. cftcm:
,~. ·WTT.tl ~, qIT ~ .~ ~ aA. 1R. ~.'"C6T ~ ~ t :

~~ Xm

& I'-,.....,~"""'r--I-'T-:.f-'''-~---'''-''''-'··''-,[,l'

4 ...-.~[C.,ntd ..•

Smooth surface (~tfttt Mf)

(A) KX
M 'm

(C) g;x m

(B) AI X
K m

(0) J¥X;m

..



5 The displacement of a body. is Zero. It necessarily' means that
(A) thebodyhas moved only in one direction.

(B) the body.snot moved at all.

(C) the body has either not moved or .it has come back to ·the
starting point.

(D) the body has moved with a constant acceleration in one direction and
then with •same .constant deceleration at perpendicular direction.

~ ~ C5T ~ ~~ll AATffi~-«~ ~ t ftIi .

(A) . ftroe" ~ ~ fr ~~lT -q. ~ i 1
(B) ~·· •• ~~il·

(C) ~ ~ffi ~ fr 'ftY ~ ~'.~ q){~: ~'tfmt ~m t ~
. lIT an ~ il ..

(D) ~ ~ e'l<C4(01 -« .~~~lT-q ~ ru{tf~;mr.~ e'1(C4(01 -« ('1+(SJQC{
~~lT-q~tl .

. ,

4 . Maximum deviation of the rays &1Jing}on the ',eye is .pr~ by:

(A) eye lens (8) pupil

(C) cornea" (0) ciliary muscles

~ lIT m:.1fRifr. ~'lfiT Pcltm., ~ 00 t :
(A) ~~c-« (B) ~ -«. .

6 A charge Q is placed at a distance, of 2R from the center of a uniforinally
charged sphere of radius R and surface charge density -<1. The force on Q is :

(A) proportional to.o Q

(B) proportional to <1/Q

(C) proportional to Q/<1
(D) zero

~~T Q, ~n ~ (-<1) (fQT ~ R t qA)('1'1I'1~ffi ~. t ~ -«

2R ~ lIT 1m il Q lIT mCfR'fT'~ :

(A) <1Q ..~ Ef'1ljQI(ft \'

(B) .<1/Q ~ t'I'1114ldli

(C) Q/<1 ~~'1'lqltft· t
(D) .~~ t

13IRUYAPR~A] 5 (CoDtd.~·.



I I
7 It is required to produce a magnetic field like that of bar magnet. Which of

the following may be used for this ?

(A) Straight wire (B) Circular coil.

(C) Rectangular' coil (0) Solenoid

~ ~ ~in ~~~c6\q.W>r ~ in ~ .~ . .q -«. ~ ~
~ \jff ~ t?
(A) ~ OR (B) C[dICbI< .~.

(C) I3ilqdlCbI< ~ (0) ~f):'1I~CbI

8 Weber is the unit for

(A) Inductance

(B) Magnetic flux density

(C) Magnetic field strength

(0) Magnetic flux

m~t:
(A) ~-tr
(B) ~~c6\~ ~ ~ -tr
(C)·' ~~c6\~W>r ~ -tr
(0) ~~c6\~ ~ ..-tr

.9 A 1.5 V, zero internal resistance battery is connected to a 1 in long wire AB
of uniform cross-section. The potential gradient on wire AB and the potential
at point C, 20. cm· away from point A are respectively: .

1.5 V, .~~ I3iFdf):Cb~~ ~ ~ ~ 1m ~ cren ~. ~~q;g crffi
CfIT AB -« ~ ~ t ICfIT AB 1:f\ ~. ~ cren ~ C'i1fT '~ A -«

20 em ~ t, 1:f\.~ ~~T: t: .

c
A B
+-20 em-+

1.5V

(A) 1.5Vim; 03 V

(C) 1.5 V/cm; 03 V

13/RUXADR_A] .

(B) 1.5 V/m;~.2 V
(0) 1,.5V/cm; 1.2\7:.,
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~"m.~"',ul'~.:¥h.02S!n21t(2t-O.Ol)xt,.~ Y?f(~T: ~tl~

~ il t"J'Jii.cd(iltsifl:
, ". . .. <....,: .. '~'" . '•.. ', -: . ..J .,:' . "

(A) lOO,qj{
- . ','/1'

'(C) ~.02'm
(8) 10m
(0) 20 m

,
io ':TIle:·:'~,or'a>vJ~v~is.

)"7 P.Qk';,~~~(2t:"'0.01) x , w:berey:and t are in m~t~t$ and seconds
rest*ti~Iy.':rhewav~gth of,the 'w..,veis:
(A) I'OOp,:' '" ..': (B)' 10 IIi

:(C) d.o2fu (0) 20 m

. {

11 ijo,thennale.~ionOf an ideal gasme,ans that its:
, (A'" '_'_'~ents ,~ris unchattged

. _": ".,.:,- .<:,/::;',:t~····._ ,,' - ". "

(8). , tem~re and·heat contents remain unchanged
(e) ,tentperatUre,and pressure remain unchanged
, I·t'·

,(0) "',.t~~', •.~. \lnchanged
'$r(,f~~'(4'''di<ft'_~., art tj~~ :
(A) ,~tpn~,~ (B) (UCf OQT. ~;·ifft ~
tel itNlI'lr'~"""~" (0) ,{fJtf"ftY~r

U Liqtiid,rises i,n ,a.,capillarytube if the angle of contact is :

1t
(~) ~~e angl~. ,(8) 2

, (C) 1£ (0) Obtuse angle .
~;w\iff'i,n'~" ,~~t,WvT :

,'- ~: "'" ..

1t ..;\.
(B) 2~'

(0) ~ q;)vy'1T. ' ,

13 ],~<.fClCalJena,thof a-convex lens is maximum (or the light of colour :
(A), Blue (B) Red
(e) Yellow:, ,(0) Green

~ ,'~Jfr"~,tft~, in t Vi6T=nt ,~~ t ?
(A) 'lfMl '. (B) ~

tel ~,., x (0) nr / (
7 [Contd ••.
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14' Acceleration due to gravity att., surfaceofEerth.is 10 m/s2. M othff
. 1 . 1

planet has amass 10 ;at.tdradius1" that of Earth. The acceleration due to

gravity at tl.\e surface of the pl~ in mls2is :
(A) 2 (B) 4
(C) 8 (0) 16
llafr "ffii( lR,t}b(iftq·lfR'Ol 10 mls2,l I ~fefflf % ~l sl)i~"l""aQT ~

11 .,' .... ..' .: 1c\. .

llafr CfiT l6ir~:10 ar.rr2 l, fi6 ~ lR'!jb(iftq (CI"{UT ~ .• (~l«~) :

(A) 2 (B) 4
(C) 8 (D) 16

15 A wire has a lengthL, areaof.cross-s~i~Ii ~:t8Jldt~eyq~'~\ modulus of
the material of the wire is Y.Work done ill increasingthe lenSth of the wire '

, . ~-':

by Ax is:
.,. I

(A) YA(Ax)2
2L

(C) YA(Ax)
2L

~ art c6T.'~ L ar.rr~ qfhi§t::CfiT ~ A ~ art t ~d CfiT'$J
~ yt lartcfi)'~··.Ax·~ ~.~lNf'~m:

(A) YA(Ax)2
2L

YA(Ax)
(B) , 2L2

. YA(Ax)
(C)

.2L

16 In a nucleus'zXA, the neutron excess is :,

(A) (A-z)

(C) (2A-z)

~ zXA if.~-~t:

(A) (A-z)

(C) (2A~)
11""1.

(B). (A -2z) .

(0) 2(A-z)

(B) {A-2z)

(0) 2(A-z)



18· Acco{dingtothe ~C~pf gases, the two third G) of the average

trClIl~!a~:io~.Jdne,ticeqergy of.·the m9~le. is equal to :
(A) PT ~) PIT
(e) PV (0) P IV
~ t ~ fijVi'~ t~~~ 1fiT~~I.,idflq .~ .•..~ ~

. q}"~ {~j'~mr.t :
(A) PT
(e) PV

$) PIT
(0) PIV .. ,; ,

'17 Ih natural or free C01lvectiOboffieatt~ materiafftows' dWe ib.difference in:
(A) deIlS!ty ". '1' (B). kinetic eneriX.
(e) potential epergy' . .(1)) volume•energy
~.t sntfttt6 aJ~·.~· Wwr (~~FT) W ~.~ t t tmtf·t m,
~ .?iJtuT ,'.11aT t ~ f~ :' •

. w\
(A) ~' •.q:' (B) ~-~.q
(~), ~~~ ~ (1) ~~.q

19 An ideal gas underg'Besfi'ee expansion. The volume of thetgas changes by ..
~V . If IlT and !ViteptesentS the change intemperature~d theinternal
energy, then:
(A.)'ATiooAV '(3) IlU oc:.1V

(e) IlU ee IlT (0) IlU = IlT = 0- .

l31TG~f ~ t ~.~ ..lR~. ;$....~ ..q ~ qRqd1 IlVt I'~ AT "ff'U

, AU~4,1N ~(fI4MiliatlT 03ffOiCff\q, ~~.~·qR*,.H~~~t, -aT.: .
(A) sr« IlV '(:8) AU oc:AV'

. (C) AU ee IlT

20Whicb()ft1l~£ollowing may change the cutoff wavelength of the continuous
'X-r~y 'sp~fi1' ~' e . . . - • •

(A) Thickness of the target . (B) Atomic numb1rof target
(C) Energyof the incident electrons .(0), Intensity of the incidentelectrons
~ .q~:ffi5;;x-~;tltruf ~c6):.~ d{ilae4 ..~ ~ t ?
.(A)\if~ c6T ~ (B) \if~ 1fiT~. ~
(e) ~ ~~~I;ff cfiT ~ (0) ~ ~~ff?;i1l~ ~

(Contd ..~
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21 The energy of the 'series linnt for,J..yman~ is : .
(A) . 6.S eV (B) 13.6 eV
(C) 272 eV (0) 40.8 eV .
~ ~ t.fffl} ~ ~ \:
(A) 6.S eV (BJ 13.6 eV
(C) 27.2 eV (0) 40,\8~V

j., . t

22 The atomic masses of 238U, 234Th and "ae are respe6tivelY298.05 u,
234.04 u and 4.00 u,the .energy released in the alpha deCay of ,238U is
approximately: . > . ,," .

. (A) 4.7 MeV (B) 9.3 MeV
(e) lS.6MeV . (0) 21.9,¥eV
238U, 234Th (Ten 4He$'~ s(CZ4*1f"1 ~238.()5 u,234.04b mn"4.00 u
~ I 238U t ~ ~.q 13«1~d ~ t, lif1T'm : . .
(A) 4.7 MeV (B) 9.3.MeV
(e) . 1S.6MeV (0) '27.9 t.teV'

23 The resistance of a bar of a material decreases sharply. on .• tins ...The.
material of the bar is :
(A) Conductor (B) Semiconductor .
(e)· Insulator . (0) Superconductor ...'
1lli m 'lIT 1(c6 ~ C6TSlRt()~ ~-« ~tl'~" .'t':·
(A) ~ (B) l3f;.(qkii,•

. (e) ~tU.\ilCf6. (O)iHfttf4kii4i .

24 The heat of vaporization Lv for water at constant volume and,OOrmal))oiling
point is 40.7 kJ/mol. Its value in kJ/kg is : . ....
(A) 22560.0 (B) 2256;0
(e) 225.6 (0) ·22.56
l:fFft·t ~ ~. ~ ~ ~"ti"I4i.:q-{,. -:I~'(IJ'.., \PIn
Lv 40.7 kl/mol t I JW.6l' lWf kJ/kg 11m: .
(A) 22560.0 (B) 2256.0

. (e) 225.6 (0) 22.56'.

25 The temperature coefficientof'resistivity a for senucoddtiC:t9r'~. cQnductor
are respectively : .' '1 .

(A) 0, +ve (B) +~:-ve
(e) -ve, +ve (D)' +ve, 0
\ji;c4tU\ilCf6*~t ~Slfa(1_C6drWN ~.·a.'Jfi'IUt~t ..
(A) 0, +ve (B) +ve, -ve
(e) ,-ve, +ve (0) +ve, 0 . .



1
(A) Z3 1

(B) (A-Z)3

26 The radius It of a nucleus z X A is proportional to:

2.
(0) A3

1
(A)Z3 .; . 1

(B} (A-Z)3

27 The missing particle in the following decay is:

p~n+e- +?
(A) Pion
(C) Nutrino

..~'.~.-q ,~ .•qm t :

(B) Muon
(D) Positron

P~'?te-+?
(A) ~i3lf.f

(C) ..~:.
(B) 1<{~

. (D) ql~s:;T'1

28 Becquerel (Bq) is' the unit. for the :
(A) decay constant
(C) > total number of decays
~"~t:
(A) ~ rCr
(C) l[q itr .~ W:rr c6T

(B) .mean life
(D) decay rate

(B) ~.~ rCr
(D) l[q'q{ rCr

29 The tqtal binding energy .of a medium weight nucleus is proportional to :
(A) the number of protons
(B) the number of neutrons
(C) the number of nucleons
:(Df' sqti&re'ofthentimber of neutrotts

1l~ ~oq¥iI'1 ~. ~. rfiT ~ ~-~ (~I~~·l.~) :}1.'iljql~~ :
(A) ~ rCr'th9trr $ . .
(B) ~rCr"mr$
(C) ~00'1" rCr ~ $ .
(D) ~ rCr th9trri; q1f $ .

13~tiR_A] . [Contd ..•
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30 The net work done by a conservative force on a particle moving in
closed path:

(A) depends on the area enclosed by the path

(B) depends on the total length of the path

(C) is always zero

(D) is constant but notzero

~ ~ em ~-~ lIT ~ ~ lIT ~ l1lif ~. :'

(A) .~ i6\ffi ~·~·em~·".q ~ tr{
(B) ~ i6\ffi t ~ ~ ~ ~ lIT

(C) ~~n ~~ 1lar ,
(D) .~~n~mt~~~·

31 A myopic person. can see objects clearly. up' to ..a maximum distance of
50 em. The type and focal length of the corrective .lens is :

(A) Convex, 50 cm (B) Convex, 100 em
(C) Concave, 50 em (D) Concave, 100 em

~~-~ ~ CffiifT ~ ~ 50 em {t.0Cfi" ~ ~ -mq; ~ ~
t 1~~·q,l~~·~.fiC1)f~a~~~'{frt:.

(A) iftWT, 50 em (B) iftWT, 100 em

\

(C) ~, 50 cm (D). ~, ·lOOcm.

32 In Young's double slit experiment, each slit sends light of intensity I on the
')..

screen. The intensity at a point onthescreen where the path difference is 4"
will be :

I I
(A) - (B)4 2
(C) I (D). 2I

~ ~ ~ ~"Ti, ~ fuiR; -« I tfum C1)fW6T~l~ tr{ ~ t ,~C1)f

~ '" .. 0').. ~ ~...+.t\.
~ I"'~ ij'jlT 1f~ 4 e, lIT OICi40.1~'·1I :

I
(A) -

4

(C) 1

l3IRUYADR_A1

I
(B) 2

(D). 2I



33 Thegr~onal force on a body of mass m at a distancez from the center
of the ~ for r <R, where.R is the radius of Earth, is.proportional to :,

I
(A) -

r (B) r

1
(C) (R-r) (D) (R-r)

ms\~q,~ t"~''R~t~-ij:r~ lIT,~. r-c R "OQTRl[~~~

~, ~(S(q'Cbt{O" ~ eQ':!Q,8) t :
1

(A) -
r (B) r.

1
(C). (R-r). (D) (R-r)

34 A ball ofmass 50 g moving with the velocity of 1 mls is stopped in 0.5 s.
The .impulse of the stopping force is : .
(A) 25 .x 10-3kg_Jn!s (B) 50 x .10-3 kg-m/s .
(C) 75 x 10-3 .kg-m/s (D). 100 x 10-3 kg-m/s

1mls ~ 11fff ~. ~' \fr 50 g c€r .~. ~ 0.5 s -ij frcGr iiffifr l' I .~ qM

~ cfil~ t:·
(A) 25 x 10-3 kg-m/s
(C) 75 x 10-3 kg-m/s

(B)

(0)
50 x i0-3 kg•.tws
100 x 10-3 kg"lll/s

35 A stone 'of mass M moves with uniform circular motion because of a cord
of length R tiedto it and fixed at the center of the circle. The. power due to
the force on the stone by the cord is:
(A) Negative
(B) Positive
(C) Negative for anticlockwise motion

(D) Zero .

T{ifiM ~ajql~CfiT ~ Cf6.ICbH lfff.lIT lflJllfa ~ ~Wl.~~R ~
. ~ uBt CfiT~·ftru l['(fR "OQT\«'U ftru CfdICbI< trff t' ~ ~ lIT ¥T l I

'ffifi "m\T l[(f.f{ lIT·.~ ~ ~ ~ ~'lfCRr l :
(A) %u1\(i4Cf);

, (B) tI*lI(i4Cfi

(C) '%"u(i4Cfi cUQ,qd llfa t' ~

(D) ~~
",

, (C()Jltd ••~13
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36 .~ . . .. '

The radius vector r com of the center of mass of a system ofN-particles of
total mass M is :

(A)
~ 1 N ~
rcom =- L mj rt
. M· i=1

(B)
. N

~ 1 '" 2~rcom =- ~ mi riM· .i=1

(C)
....; N ~
r com =M L mi r i

i=1

. N
. ~ . ··2~

-. (0) rcom =M L mj rj
;==1

t.: ~:
(A)

~ 1 N .~
r com=- I,mj r,
. M j=t"

N~ l~. 2 ~
(B) rcom =- L mj ri

M ;=1 .

(C)
~. N ~
r com =MI, mi r,

i=1

~ N ~
(0) r com=M L m; r,

j=1

\ 37 For a system of objects that exert forces on ope another the potential energy
is associated with the :
(A) motion of objects
(B) momentum of objects
(C) angular. acceleration of objects
(0) configuration of objects'
~.~-q""{lRm~WTRcmf~t~~-tr~~~~:
(A) . fqqif c€r. Tffu -q""{

(B) .fqTJ5l t m -q""{
(C) fqTJ5l t ~.~-q""{

(0) fqTJ5l t ~-q""{

38 A block lies on a rough horizontal floor. The maximum value of the static
frictional force for the block is 8 N, the frictional force on the block in case
the block is pulled horizontally by a force of 5 N ~s : .
(A) 8 N(B) 5 N
~) 4N (0) 2N
~~. ~ •.~ ~ m<r -q""{-nsn ~ I ~ t ftirq .~ ~ .."£JIttiT
~ 8 N ~ I ~ fqua ~ '5 N t ~~~ ~~1T if-fi.~ m iffi-q""{

~ ~ ~ CfIT 1Wf m:
(A) 8 N (B) 5 N

. (C) 4 N (0) 2 N

14
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(C) 450~m (0) 500 m

39 The foUo~g fourequatiQflS give the position Y (in m) ofa particle at time
t (in. seco~; t > 0). In.whiCh sitt#-tion the velocity of the.l?:l)J1icleis constant '
but not zero ? . ,,',

, 2
(A) Y=-2 (8) y=-

t3

4
(C) Y=-' +5 (0) Y=6t-4t2

~·cfi.T(2fr eq)Cf)(UJ' w:flr t(l> 0, -«.~1·lf{ ~ t6t ~Y(1fr. -q) llORfr
~ I ~ ~4tf6:(OIt ~,~.t6t qni(~ m t :err.'~~. ~ t ?

(A) Y=-2
2

(8) Y = t3

, 4
(C) ,Y =2"+5

t (0) . Y =6t-4

40 Two bodies X' and Y start from the same point run in opposite directions
respectively with uniform accelerations of OA m1s2 and 0.6;m1s2. How far ~
apart X and Y will be afterJu.s ? '

(A) 350 m (B) 400 III

(C) 450 m (0) 500 III

iT ~. X"ff~ Y ~ fr ~ -« ~qad~lT.m -q Sf)qfl:: 0.4 m1s2 "ff~
0.6 mls2 Wi ~ -« 1lfir~ t I 30 s :ana:X"ffen Y t ~ t6t ~t
.(A) 350 m (B) 400m

, '

41 If D denote the total distance travelled by an object and d the displacement
of the object, which of the following can not be true ?

(A) D=d (B) Dje d

(C) D < d (0) D > d

~D.~d~T: ~ mrT.Rilt T(2fr lfr ~"ffen~ cfit ~ ~,t,
aT ~ -q.qfr;r m. e4\t6{OI ~ t ?'

(A) D = d

(C) D < d

131RUYAl)R A]
'.>U;J _f~-

(:8). D;fd

(O) D> d

15. [Ceatd ••.



42 The potential energy Vs aisplace~~ntgraph for a body executing, simple
, harmonic motion of amplitudeA, may be represented by the curve

(A) no. 1

(C) no. 3

.£~~_ Curve no. 2
./ i/' I~ Curve no. 3

r. // ............. +,

Displacement ----:+

(B) no. 2

(0) no. 4

'A' ~ it;" ~ ~ 1lfu q){ 'd fqug qft ~ - .~ i3fR ~ em
mtfj ~ 1l' ~ fcrffi CJ1I) ~~m ~ 'ij'(T ~ t ?

(A) -;f. 1

(C) -;f. 3

r
1
I

!

......_ ; ~_.L~~~of. 1

\
"'.. ,~.......•••.•.

f·,
j+A
I/\"" ....•..,........• - ..

'C6\CI' '1. 4.~.--+
. (B) -;f. 2
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-7-4
(e) dB = Jlo i dl· r

~n: r3
-.rrn~~~. ~ ~ ~ t

(0)

43 In the ~one bridse circqit shown u.,•.the, .flgur'e, the~tude of the
c~ent I _the potentiAl dHfer~e be~n points A and B..are respectively:

.:'-;;.,v',<." .' '. ,: ......• ' -:1:.. ...,.... - ....• : .. " -: '_ "',' .." ,

.~~ ~mt·.~e:tit4~~.q ~'IC6T 1'fFrafrr~:Aim B t~
f?I\i~lo:a(..,: l :

./"j" -.

IS V

(A) LO A; 0.0 V
(e) O.lA; 0.1 V

(B) 0.0 A; LOV
(0) 0.0 A; 0.0 v

44 The differential form of Biot-Savart law is: .

(A)

(A) (B)

(D)
-7 -7

-7 'Jlo r ·dl
dB=--;-

4n: r3

45, A prot<>(Ienters a uniform magnetic field of 1.0 m'Iat right angle to the direction
of the field with a speed of S>106mls. The force experienced by the proton is ':
(A) Zero (B) 8.0, x. 10'"-16 N
(C) 3.2 x 10-16N (0) 8.0 x 10-28N
1.0 mI$ w:r ¥'Itl~«sr ,.q ~ VriA «sr tl' fbn $ (i\qrCl({ 5xl06m1scir
~ ~ 'OOffi .t I ~ '1ft \if1TT ~ t :
(A) ~~ (B) 8.0 x 1O~16N
(e) 3.2 x 1O-16N (D) 8.0 .x 1O-28N

13~UYADR!AiJ" 17 [Contd•••



46 A p~allebpUlte capaciWt:is conntfted toa battery. What will happen to the
chargeon the plates of the capacitor if the separation between the plates
is increased? .-
(A) charge will increase (B) .chrage will decrease'
(C) charge will remain same (D) charge will become zero
~ ~ ~ ~~ ~ ~ -ij-" ~t I q~lq)l~ 1ft ~~T ?fiT~m
~·q~dfjfi!TI tt ~ tt ~. ~ eft ~ ?
(A) ~~T ~ (B) "~~T tR;tn
(C) ~~T ql\' "WIT (D) ~~T ~~ ~ ifflt1TlT

47 Two metallicplates X and Y having electric potential of ..,;200Vand -400V
respectivelyare held 10 em apart, as shown in the figure.A proton is released
mid way between the ·plates. The proton will :

x Y

·..10 em-

-200V -400V

(A) move towards X with constant speed
(B) move towards Y with constant speed
(C) will accelerate towards X
(D) will accelerate towards Y

Gl ~ tt q?f?:~')iX ~ Y ~ "4\ Ff~T:-29()V tf'U -400V ~"~ t,
~ ~ -ij- 10 em tt Ifr"4\ ~ l, ~ ~ ~ ~ ~ t I~ Vrif;:r.q~l~')i
~ l{tlf cIT;ff -ij- ~.~"4\ $T ~ II~ :

X Y

·10 em-

-200V -400V

(A) X cfit &rt ~ 'qRif -ij- ~

(B) Y cfit &rt ~ ~ -ij- ~"

(C) 'X cfit ~ ~. m
(D) y~7"~~ m



(C) 1.5 eV (0) 2.0 eV

o
48 Light of~v:elengtl6200 A.falls on.a material having;pIIOtoelectric work

function"elf' 1.0 eV. The kinetic energy of the 'mos(~ergetic electron
will be: '.

(A). 0.5 eV

(C) (5 eV

'(B) .1.0 eV

(0) 2.0 eV
, 0' _ '

. 6200 A d(ilaaf C5Tm~T 1.0 eV"SfC6l_Pciga4i141fJ(ii'1 cu~,~ 1:1\ ftR,-m

tl ~ ~~ ~c.')«r...tfit ~~~ ~:
(A), ,0.5 eV' (B) 1.0 eV

49 A dynamo is used to convert

(A) mechanical energy into electrical energy

(B) kinetic energy into magnetic energy

(C) alternating current into direct current

(0) electrical' energy into mechanical energy

$1~'1+O C5T~ mrr l ~ t ~
(A) ~~cffi~~~
(B) ~-~cffi !I~c6l~ ~ ~
. (C) ~((wnff ~ cffi~ ~ ~
. (0) ~~cffi~~~

'50 ~he function y(x,t)=0.05 sin(2
3
1tx)cOS(1201tt)

where .symbols have their usual meaning represents :

(A) travelling wave (B) stationary wave

(C) .Jongitudinal wave (0) electromagnetic wave

AA ijiflCti{ul ~ ,~ C5T.~ alff' t,~~mnt :

, y(x,t) = 0.05 sin( 2
3
1tx)cOS(1201tt)

(A) ~ oM
(C) ~oM

. J?/R,WADR_A]

(B). ~ "m: {:;::f.
(0) ~,~c6l~<~

);!J j, J~Hu.t4···<il9
'"
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(e) /\(\
OH

51 Which can rotate pl. polariwt light·

(A) CH3 CH2 CH2 COOH
eHO
I

(B) HO-C-H
I
eH20H

(e) /\(\
OH

eOOH

. (D}NH2-f-H

H

~ -q -« ciA ~ ~ w.6l~Tq;r ~ 'qmff ~?

eHO
I

(B) HO-C-H
I
CH20H

(A) CH3 CH2 CH2COOH

52 Geometrical .isomerism is exhibited by
(A) propene (B) 2-butene
(e) butane (D) All of these
~ -q \llT ~lfl:Ira el'fICl*"ldl~~mrr~, :
(A) ~ (B) 2-~

(e) ~, (D) '\3Q()Cffi ~

53 Most acidic species among the following is :,

(A) CH3 -C =CH (B) CH3 -CH =CH2

(e) CH3 -CH2 -CH3 (0) All are 'equally acidic

~ -q ~ ~ ~ ~<flGt ~ :

(A) CH3-C=CH (B) CH3-CH=CH2

(e) CH3 -CH2 -CH3 - (D) ~,~ ~ -« ~ ~

l3IRUYADR_A) ),:,22 lA:_8Qi\;[flJ •••••.



.54 WbichOt':tlie foliOWinglUJSa'mesoisomet1?
, .,~. \ .... . .

(A) 2~obutane (B) 2, 3-dichloro .butane
(e) 2,~hloro ~titane (D) 2-hydroxypr9~oic acid
~ .qfiR,,'.q '-qm e'1ICj~Cj ~ \jffifl t ?
" ' _. :. ."-.c~_-,i r ' "

(A) 2-i~ J~ , (B) . 2, 3-61~qm){) ~.

55 ,Which,of, the following willexhibirtautomerism ?
. (A) 2-b¥~ene (B) 2-pentanone
(C) formaldehyde ' (D) ethanol
~ .q -« ctft';r·ql'lICj~.Cjdl '(~~?
(A)2-~

(C) .Q)l~fM'l';tI,
(B) 2-q~'1T'1
(D) ~~

56 OzonOlysf$of an orgatlic compound gives acetone and propionaldehyde
in equnnelatratio. The compound is .

(A) 2-~hyl-l-pentene (B) l-pentene
(C). 2-p~t~~e (D) 2~methyle-2-pehtene

~ CfiI.~Cfi •• ~ •••~. ~~. ~tti)'1 (fQT ~"\lfq~~81~6 ~ ~

~ .q Jnt(t,Jl'a t I'~ t-
(A) f...~-l-~
(C~2-~

(B) 1-~

Presence of a nitro group in benzene ring
. (A)' Activates the .ring for electrophilic substitution.
(B) ~vates the .ring for .electrephilic substitution.
(C) Activates .the ring for electrophilic 'addition.

~ ;>,. _·'f.

(0) Activate. the ring' for elimination .reaction.

~ ••'~ .Tj ~' .••~ ~ cir ~ -« :',

(A) ~'~'.~*'N "t4"~ -em '00 ~I .

(B) ~ ~ _~CW;T'1~ ~ Pt~~ "8Rn'~1
(C) _.q_~~i'1 ···.Rfr ~ ~ -ma-r II ',,,I:~\ ;

(0) ~ ...q ·~~q'1'at\1:tIlb~1 ~ 1Rft t-I
.,..&JAR_ADR_A] 5J23 II j, 4¢*.···
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58 In five isomersof the hexane, the i~mer whichcan give two monochlorinated
compounds, is
(A) 2-methyl pentane
.(C) 2, 3~dithethyl butane

(B) 2, 2-dimet,hyl butane
-~:.: : - , - - - - '. '

(0) n-Hexane
.~ ~ ~. (1qlq~q4{ Tf ~ (1'uq~CI \j()~ '1"\t;fI~(iiH'~ ~~, ~ :

(A) 2-~ ~ (B) 2, 2~ ~

(C) 2, 3~ ~(O) n-~

59 Acetylene does not react with . .
(A) Na (B) Ammonical AgN03
(C) HCI (0) NaOH

.~e1fl(ift.,~ .-« ~f\:tRb~I'"ftY .~ t ':
(A) Na (B) . ~'1,);;i1if)('iAgN03
(C) HCI (0) NaOH

60 Correct order' of acidic strength
, .

I - Phenol
II - p-cresol
III - p-nitro phenol
(A) I > II >111

(C) III > I > II

~ ~ C6T ~ If)I'I'~ •.

I-~

II - p-~

IIl- p-~ ~

(A) I > II > III

(C) III > I > II

(B) III > II > J
(0) 1 > III >. II

(B) III' > II > I

(0) I > III > It'

. 61 The alcohol, which reacts fastest with ~nC12 and HCI is

(A) 2-butanol (B)2-methyl propane-S-ol
;~ - -' - -- - -

(C) 2-methyl propanol-I (D) .l-butanol.

q\iCbl&I(11 ~ ZnCl2 ~~lHCI -« ~. ~ -« "~fttR6~I' ~ ~

(A) 2-&!{~fll(11 (B)' 2-~ m.,--2-\iRrr
!J

(C) 2"-~ ~)lq"I(11-1 (0) l-&/{~..,.r(11



62 'InCanDia:itb reaction

PhCHOo1rPIICH 201f;+PhCOO~

slowest step is :

"(A)'Atfioff 'of Oil-on cart!)onyl'group
(B) Transfer of Hydride ion to carbonyl group
(C) , Abstraction qf proton.,froJll carboxylic group "','

(D) Deprotonation of PhCl:(20H

a,PtIilH) ~~fJ)"1

OH-
PhCBO, ,',' , PhCH20H+PhCOO-

~"6d ~ ~,t:
(A) CblanPt(if"~' ~ OH- ?fiT i3ffi1PlVT

'(B) el~II~$ ~ ~. ~ianPt(if ~', lfr lt41'11"\1{91
(C) Cbl.~~'! ~ -« ,~, Cfit ~

(D) PhCH20H '?if, ~~)GT4lifi(UI

63

Product "is :

fPi'11'
(D) CH3 -GH2-C-H

o
II

(C) , CH3 -C-CH3'

13IRIlVADR_AJ 25
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64 Which one of the following undergoes reaction with 50% NQOH to, prOdu~ ..
corresponding alcohol and acid ?

(A) Phenol

(C) Butanal

~ ~ ~ ~ 50% NaOH -e-

~~ ?

(B) Benzaldehy4e.

(D) Benzoic acid

~R6lH iR.t'tklr.tld qijib)"M nQf .~

(A) ~ (B) ~~~$I~.

(C) &!{~.~(ft (D) ~'1 ~~1i11~C'h

. 65 Which of the following is a method of separation of Qmines 1:
(A) Curtius reaction . (B) Wurtz reaction

(C) Hoffmann isocyanide reaction (D) Hinsberg method

~ ~ ~'am ~. 'q;)'1[~ ~ ~ t?
(A) C'hf!t4t't atf1:lRbt41 (B) ~atf1:lf?6ql

(C) 31"6"'11 atl~(111t'tlt411~% "ifiolRbt41 (D) f&~iI·f.~

66 Change in .optical rotation of freshly prepared glucose solution Is.
known as :

(A) Mutarotation

(C) Tautomerism

(B) Racemization

(D) Specific rotation

(flijff ~ ~ ~(ftt41 .~ ~Tifi ~ -qQf'{Cld'1 "firm t,:
. (A) . Qf{ctRfd. wrar ~ (B) 1e~Cf){ui

(C) ,tI(ftlClt4ctdi

67 <X - D- glucose and ~ - D - glucose are :

(A) Conformers

(C) Anomers

(B) Epimers

. (D) Enantiomers

<x-D-~ q~-D-~ t
(A) ~ (B) ~

(C) ~
, .

13tlUJ¥A»~A] 26.
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68' . Insulin is :

(A) A coenzyme
.(e) An enzyme

~1tR;t'it :
. (A) ~ eS'l("'3tf~q

(e) ~ l("'3tI~'i

(B) Ahormone

(D) An antibiotic

(B) ~.~ .

(D) ~S4 fdlJftCf

69 A substance can form zwitter ion. It can have functional groups :

(A) -NH2, -COOH

(C) .Both (A) and (B) are correct (D) None of these

.~ ·~I3~<H~\S(O ~ (~ ~) ~ ~ II~f?641(qij) ~ ~ :

(A) -NH2, -COO}f (B) """"NH2, -S03H

(e) (A)ct(B) GAT ~ (D) \3q(14O ~ -a C6Tt'~

70 Wheeequal volumes of'following solutions are mixed, precipitation of AgCI

will occur only with (Ksp (A~l)= 1.8X1O-1O)

(A) 1O-4MAg+ and 1O-4MCr

.(B) 10~5M Ag+ apd .10-5 M cr
.(e) 1O-6M Ag+' and 10-6 M cr
(D) lO-lOMAg+ and 10-10M cr

-~::";>
~ ~~I.'t<F1'j t WWf ~. ~ ..~ ~.oy AgOl q;f ,~~ f¥o:r
~mtaWn:

(Ksp (AgCl) =1.8 x 10-10 )

(A) 10-4 M Ai+ O'~ 1O~4M cr

(B) 1O-5M Ag+ 'o1l1 1O~5Mer

(e)· 19-6M Ag+ 0'lI1 10-6M cr

. (D) '1O-IOM Ag+ O''-lT1O-1OM cr



71 . Benzene.
Anhydrous
Alel3

B HCN C H2~ )D
H

The structure of D is

OH
I

ey-CH2-C-C. H.3
(C) ~ tHO

CH3COOH· SOC/2 ) A :)
AlC/3

B· HCN C H20 >D
H+ .

OH
I

ey-CH2-C. -CH3
.(A) ~. tN

OH
I .ey-CH2-C-CH3

(C) ~ . tHO

..
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72 Freezing:points of solutions Qf K4,Fe(CN)6? K3Fe(CN)6? urea and BaCI2

,with, same molality will be. in order'

(A) urea »BaC/2 >K4Fe(CN)6> K3Fe(CN)6

(B) urea >'BaCI2 >j(3Fe(CN)6 >K4Fe(CJf)6

(C) urea < BaCh <K3Fe(CN)6 <K<JFe(CN)6.
(0) BaCh>K3Fe(CN)6>K4Fe(CN)6 > urea

f,'

~ J:i)(it(i1dl~K4Fe(CN)6' K3Fe(CN)6' ~"ff'U BaCI2 t ,Pc4(i1~.,'j

t~MR>ll-q~:
(A) <{furr> BaC/2 > K4Fe(Clf)6 > K3Fe(CN)6

(B) <{furr>,BaCI2> K3Fe(CN)6 >K4Fe(CN)6

(C) <{furr< BaCI2 <K3Fe(CN)6 <K4Fe(CN)6

(0) BaCI2 > K3Fe(CN)6> K4Fe(CN)6 > <{furr

73 Compound with highest boiling point
.(A)n-heptane (B) 2, 2-diin~thyl pentane '
(C) 2-methyl hexane (0) iso-heptane
~ ~ CfCftl..,jq) 'CfRiIT ~ t :
(A) n-~ (B) 2, 2~~
(C) 2-~ ~ " (0) ~ ~

74 2Ag+ -c« ~2Ag+Cd2+

EO + =0.80 V; EO 2 =-0;40 V
Ag lAg ,Cd.+ICd

1 Ai

Concentration of Cd2+ is taken 0.10 M rather than IM,then total emf
becomes
(A) More positive
(C) Remain same

2Ag++Cd ~ 2Ag+ Cd2+

'Eo + ='0.80V; EO 2 =-0.40 V
Ag lAg ,Cd +ICd

(B)' Less positive .
(0) Decreases tq, negative

~ Cd2f: c6t~.~ 1Mt ~ TIT,O.lOM.~ ~'oT P emfWrr:
(A) ~ ~ (B) C6lf' ~,~~ ,
(C) lfttWrr' (0) ~ CR ::tiOIlMq)~ ~



r

(B) n=3,/=2,m=+1,s=+ Yz

75 Which of thi:ifollowing sets of quantum numbers represents the highest
energy electron ?

(A)
" ·1n=3 /;:=1 m=+1 s=+-, ,. ., 2

(C) n~4,l=O,m=O,s==+ ~
1

(D) n=31=Om=Os=+-, , . , 2

~ ~. ~ ..~ mqql~q ~i3U '$T (1!!ii44\5ii4dif ~ t ~~«T1 'cnl
q~mnt?

(A)
. 1

n=31=1 m=+l s=+-" , 2

(C) . n==4,I=O,m==O,s=+Yz
(B) n==3,1==2,m=+l,s=+Yz

1
(D) n=31=0 m=O s=+-, , , 2 .

76 Which of the following sets of quantum numbers are correct for 'an electron
in 4f orbital ,:7:

(A) n == 4,/ =3,m == +4,s == +Yz

(C) n==2,1=3,m=+l,s==+ Yz

(B) n==4,/=3,m==+I,s=+ Yz

(D) n = 3 I = 3 m == +3 s == +1/2' . , ., 72

(A) n=4,l=3,m=+4,s=+ Yz . (B) n=4,1=3;m=+1,s=+Yz

(C) n = 2,1 ~ 3,m =+l,s =+Yz (0) n = 3 1= 3 m ~ +3 s=+ 1/2 .. , ., , /2

77 Number of lone pair of electrons on central atom of SF4,CF4 and XeF4
are respectively.

(A) 1, 0, °
(C) 1, 0, 2

. (B) 1, 1, 1

(0) 1, 2, 2

SF4, CF4 om XeF4 ~.~ ~ lit ~M«T"1~ cCr ~ ~~T: t :
(A) 1, 0, ° (B) 1, I, 1

(C) .1, 0, 2

13/RUYADR_A] .

(0) 1, 2~2
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(B) 55.55
, ;J~~<-

(D) I3Q{\4d.q ~ ~. ~

78 ~tl which,.(9fthe following process hybridisation of~~Fal atom will
change t . . . ..1 rt,n.l

(0) All of these

79 Molarity of pur~ water is :

(density of water = 1glmL)

(A) 52.90

(C) 42.37

~ ~. cCr '11\'it(t'f1 q)J lJR .'"

('fflYr. q)J tFRCr = 1m;M-.)

(A) .52.90

(C) 42.37

(B) 55.55

(D) None of these do'

80 llNa23 is formed from llNa24 by

(C) X-electron capture (D) a -emission

(A) onI ",emissi~n (B) J3-emission

o .0 .



81 An ionic compound is made up of lwo elements 'Ai and 'B'. 'A' occupies
• the corners of cubic unit cell and '8 occupies centers of all the faces of

unit cell. Empirical formula for compound is
(A) AB (B). AB2 (C) AB3 (D) A2B3
~.~ ~.~ ~ 'A'C{ 'B' ~ ~ tl'A' ~ ...~ mrr· tctRl
1Jt ~ t ~trr 'B' ~ ~ t ~ 1Jt .~·tl ~ r6T'l(1111ql~
~ WIT:
(A) AB (B) AB2 (C) . AB3 . (D) A;B3

82 For reaction

the ratio Kpix; is

(A) 1/RT (B) RT

~ ~!1:t~lfl t ~.:

cqg) +C12 (g) ~ COCI2(g)

Kp/Kc ~.~

(A) 1/RT (B)RT

(D) 1.0

. (C) R2fl (D) 1.0

83 CaC03(S)~CaO(s) +CO2 (g)

Limestoneconverts to ·lime according to above equation. For this reaction

MIo and ss: are +179.isr and 160.2 JK-l respectively at 298 K and

1·bar; Assuming that Mfo and ASo do not change with temperature, the
temperature above which the reaction will be spontan~OUsis :

. (A) 1008K (B) 845 K
(C) 1200K (D) 1118 K

CaC03(~) .; C~O(s)+CO2 (g)
. . .

-:='3Qm(jCffl= atf1:!t))lfl t ~ ~ .C6T .~~~ ~ qf{qR{c:t tTa1 t I ~ \jif'fl16lfl

t ~ Mfo Cftll A,S0 t lWf 298 K Cf~ 1 .~ ~Ailf~T: +179.1 kJ Cf~

160.2 JK-l I ~ lJFffi·. ~ fctiMlo ·otlT MO "ffiq" t mtr q~qRid ~ m
·l '3q {)Cffi atftt~lfl ~ ON t \£tf{ m:Q\,{qRid ~ ?
(A)· .100~K . (B) 845 K
(C) 1200K (D) 1118K

(Contd:..



84 The enthalpiesof carbon andcarbo~monoxiae are-393.S and -283 kf.mol"!
respectively.The enthalpy offormation of c~bontfionoxide p~rmoleis : '

(A) 110.5kJ

(C) -676.5 kJ,

(B) 676.5kJ

(D) ,-HO.SkJ

~ ~$'~ ~t'r..ftctei~gcer·~~\'iCft~ 1Wf ~~T! -393.5 om -283 kJ mol-l'~ I

~qT;:flCffiI~6 t ~ cCr~~~ (~ra",\'1),em1Wf .~:

(A) 110:5kJ

(C) -676;5 'kJ

(B).' 676.5kJ

(D) -110.5 kJ

85 For a second order reaction, unit of the rate of reaction is :

(C) morl Ls-1 (D) none of these

~ ~ cer ~f\f~(n t ~, ~f\fRb~1 rtr '{\ rtr ~ t
. ,

(C) morl Ls-1

. 86 For a zeroth orderreaction half life tj.me is

" (A)

(B)

(C)

(D)

directly proportion to initial concentration.

inversely proportional to initial concentration.

independent .of initial concentration.

double of the initial concentration.

~R~ rtr ~~Il6"1 .t ~ ~~~' C5R'f

(A) ~ltf\fC6 tfR1.'ffi t (1BljQIC11'~ t I

(B) ~1(f\ff.6 tfR1.'ffit Clf{rt6.ttljQI8t mort I

(C) ~1(ftiC6tfR1.'ffi If\ ~!'1if 'CfW1T t I

(D) ~lItfi:fC6 tfR1.'ffi C6T~ ~l ~. ~ I

... ..



(A) Milk (B) Curd

87 Gold ~~~fS for protective 'co~ids A,..B,C andDvare 0.50, 0·91, ..0.10
and 0.-005 respectively. The corr~t order of theirprotectivepower. is:

(A) D > B > C. > A

(C) B > D > A> C

(B) D > B > A> C

(0) A > B > C > D

C6T\'I)~ii A,B, C om D t ~ (~~) FJ~T: 0.50, 0.01,0.10 'Om
0;005 f I ~ "Uft1JT ~ q)J, '.~ S6ll' .~ f :'
(A) D > B > C > A (B) 0' > B > A > C

(C) B > D > A> C (0) A > B > C > D

88 Pearl is

(A) solid sol (B) sol

(C) foam (0) emulsion

lffifrt :

(A) om~ (B) ~

(C) WI (0) ~'R (-.:mm)

89 Which' of the following is an example. of emulsifier ?

(C) Soap (D) Oil

~~ ,-ij- ~'i~C6t<C6 (qt<HftC6t<1.f)) q)J mT' 13&1&(01\"

(A) l~ (B) ~

ye)i
~ (0) 'ffiif

90 Which of the following catalysts is used for conversion of oil into fat ?

(A) Cu

,(C) . Ni

(B) Fe

(0)' Na
]
\

'~it -ij- cfit.l trY ~ 'ffiif Cbl cmT llqf{Cld'1 t·~ ~ flnqr ~t ?

(A) Cu(B) Fe

(C) Ni

13fRJJY4J?R_A]
(0) Na

34..\
\F.' ....-~
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91 Which of the' following metals can not 'be obtained by electrolysis, of its
aque<>ussalt solution? "j

(A) Ag (B) Cu
,(C) Na (0) All of these

~ 'Tj "« cGR' lfr ~ ~ ',~ ~ ~', ~(ij(4"1 .~ ,~ .~' zm
m~~~~t? '
(A) Ag (B) Cu
(C) Na (D) \3q ()CRt ~

;"',

92 Highest ionic radius belongs to . ,

(A) Ca2+ (B) K+

(C) 82- (D) cr

(A) Ca2+

(C) 82- (0) cr

93 Orion is a polymer of :'

(A) Styrene
(C) Acrylonitrile

~,~ifiT~t

(A) &;1~fI"1

(C) qf?fi(i11"11~~(i1

(B) Vinyl chloride
(0) Butadiene and adipic acid

(B) cu~Pt(i1 Cf(ii'j (I~$

(0) it{eol$I~"1 (f~ qf$fqCf) ~

94 Molecularweight of KMn04 is M. Equivalent weight of KMn04 in.~~idic

medium is

M M
(A) - (B)

3 5

(C) M (0) None' of these '

(A)
M
3

M •(B) -, 5 , LA)

(C) M

, 13IRUVAbR_A) 35 [Contd •••



(A) 0

(C) 2

(B) 1

(D) 3

95 Number of unpaited electrons in [Fe(CN)6]4- IS

(A) 0

(C) ·2

'(B) 1

(D) 3 1
\

96 Square planar complex among the following is :

(A) Ni(CO)4

(D) All of these

(A) Ni(CO)4

97 Amount of CO2 at STP produced by decomposition of 25 gm CaC03
.which is 80% pure, will be

(A) 5600 mL

(C) 2240 mL

(B) 4480 ml.
t
••••.I

(D) None of these

80% ~ CaC03 t 25 1JTlJ"« .~ iR crnfr CO2 cCr STP If{ 1W>rT
W?r

36 ······lCollt¢ ••

(A) . 5600 .f1:Jftr

(C) 2240~

13IRUYADR_A]

. (B) 4480 f1:Jftr
. .

(D) i3q ()rffl -q "« ~ -.,ff .



37 (C,oBtd ••• .'

N .. -; .. ' n:' . '.. N .
98., Volume,of~"2 NaOH,neede4 ..to reaGt,-withmiKtur~ of 50;.mL "4 Rei

N
and 100mL. - HN03 is. ,8 .

(A) 40 mL

(C) 60 mL

(B) 50 mL
(0) 100 mL'

N . N '
, 50 ~ "4 HCI ,"ffm 100 ~ "8 HN~ * ilfJJl'OT.Cb1i3~Iij)~:~. * ftirq

N "2' ssos .?6\- ~ lITSIT ?6\- ancr~~· Wft ?

(A) 40 ~ (B) 50 ,.~

'. (C) 60 ~ (D) 100 ~

99 Non-aromatic compound among the following IS

[) 0 n
(A) (B)

(C) 0 (D) (0.

~ .q.wr ~<1qflq) ~ t :

(A) 0 (B) 0
(C) ·0 (D) ~CO

100 Most stable free radical among the following, is

(C) (CH3)2 cti: , (D) (CH3)3 c·
f¥;t -q, ~ .~ ~ ~ ~ l :
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102 Phylum chordata has the following important characters
(A) Presence of notochord
(B) Presence of pharyngeal gill slits
(C) Presence of dorsal tubular nerve cord
(D) All of the above
"{fe;rcmGT t ~ tif~ ~ :

(A) "11;::'"'jCbltctT ~
(B) ~Hi;fltl m fuif ctT ~
(C) ,!isod~'>'tI "1RrtCb.ICbI<~ .~. ~ ctT ~
(D) \3q (lCffi W¥fr

•

101 Which one of the following·'coelomis presenteei' in Annelida ?
~'" 3,'u-,.· _ ..• ,' .. -,<,., ",,,,,,., ,.,.'-,-,' ,'.: -, ""-,,,', ,',',r·,- ,.- ,'"

(A) Pseudo coelom (B) Schizocoelic coelom
(C) Enterocoelic coelom , (D) None' of the above
1{1'>,Rttal1l ~ qrr.' ~ P1ktRtt~d 1l ~ ~m 00 ~ ?
(A) ¥ ~ (B) ~"~Ii1I~ft;tCb ~
(C) ~~ fjij)RttCb ~ (D)\3q ('jCffi 1l ~_ ~ -=rtf

-40

103 Some of the important characters of fishes are :
(A) Poikilothermic, aquatic, skin with scales, presence of fins and gills
(B) Poikilothermic, aquatic as well as terrestrial, skin with scales,

presence of fins and gills
(C) Poikilothermic, terrestrial, skin glandular and moist, presence of fins

and gills
(D) Homeothermic; aquatic; skin with .scales, presence of fins and gills

, lif§Rtt~'j .t .~~ tif~ ~.~ :

(A) ~~t~'~. ~1\\'Cf)gCffitcrerf fq;;f ~- ~ ctT .~
(B)~fid<Cffi~, ~. ~ ~ GFiTtr, ~--- ~1(i'C6gCfficrerf fq;;f ~

~·ctT~
(C) ~~, ~t ~. lJf~ ~ ~, crerffq;;f ~. ~ ctT

~

(D) tllidI4\~, ~ ~1(i'C6gCfficrerf fq;;r ~ ~ ctT ~

104 Bony fishes belong to class
(A) Elasmobranchi (B) Osteichthyes
(C) Agnatha (D) Holocephali
~ lif§Rtttli ~k1Rwtfuld crt- 1l 13ffifr~:

(A) ~(itI~'ja·ctT (B) ~
- (C),~'lT (D) &l~lftiq,(itI{



, .

105 W\1ichqf)heJ9119~g~e po~nou~;snake~(f9upd in ~a ? .
(A..) Kirts Cobr~Indian Krait,· Red Sand Boa
(B) KinfjCobra, Indian KrJlit, Rat Snake
(C) Killg Cobra, 'Indian Krait" Rus~'s;;Viper

• '. > . "

(D) King Cobra,Ind~ Krait, Keel Back Snak,e",

I}t"'1 ~ fuld -q -«. <tR -« 'qf"ffl, -q tm) iJfA~ ~ l'49)Cfd ~ ~ ?

(A) ft6Tr.~, ~~a, ~ ~ ~®

. (B)' ~ ~, \iIUftti ~a, '~ ~,
(C) 'fcirrr~, \iHrl)tI ~o, ~ ~

. (D) ~~, \i1.«(1~tI~a, .ttfM i .~'.
106 The theory of 'use IID,ddisuse of parts' and, 'inheritance of acquired

.characters' wtts 'propbsed by .:
(A) Lamarck (B) Darwin '
(C). WeismaIln (D) )Darwin ahdW'allace

H~ $1~ qct'~~" .~. ''\3Qlfijfd ~~ cCr~~wrf~t'q)fR1@~
fcfr« a$1I~q)&m'Slraql~d ~ Tt1rr ~ ? .
(A) ~ -,,.,

·~t'-}
(B) .~

(D) ~ qct,..~ ..
107 The Scientific name of man is :.

(A) Homo.babilis

(C) •Homo ergaster
~ ?iT l$11P\4) , ~. t
(A) ;~;,j"'ffm
(C) ~);~?i1R.( ',

<n.)' Homo sapiens
(P),Hortl() .erecius

(BJ 'mr .~dRr

(0) .m" $~~8'

108 Mulberry silk is produced by the silkworm, which has scientific mime as:
. (A) Bombyx mori (B) Antheraea mylilta

(C) Antheraea assama (D) Samia cY!'thia

. ~ t~"Pl q;y \3t<1Wi m crTffi t~1lf q;y .c6TG ...~ 'Cf~T C&11tffi ~ ?

(A) iSflfifCR1 1IhTt
(C) ~.~

13iRyYADR_Al

(BY rr~lfl{lffr'l21 ,\).

(0) #flrl1l ~o31T
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(C) ~.'

109 WhicW1ofthefoUowing States is the leading producer of Lac in India?
(A) UttarPradesh (B) Iharkhand
(C) Rajasthan (D) Madhya Pradesh

~ it mm CfiT \3N1C(1 m~ ~ \l\Rf t
(A) ~ rt~l (B) $11<(!hl

110 African sleeping sickn~ss is .caused by:
(A) Trypanosoma cruzi (B) Trypanosomahominis
(C) Trypanosoma gambianse (D) Trypanosoma lenox

at Sfl)C61 ~ if1r ~ Cf>ltt6 q<,*,4\t
(A) ~q;ilti}xfl ~~ . (B) ~q;jjwlfI ,)Iflf.tff

(C) & q;ilWq, Jj4#)ql1 (D) &q=nWq, ~'

" ,

112 Cancer that begins in the cells of the immune system are known as :
(A) Lymphomas and 'Sarcomas (B) Lymphcmaaand "Myeloma's

'l(C)( .Lymphomas and Leukemias (D) Sarcomas and Leukemias
'~~ '"ffsl 1€r~1?IITan= it ~C6fed ~ ~ ~$8'h~.

(A) ~tq)"'jq('~ ~I(q))ql (B) ~tq)1ql~ .•• I,Wjql

(C). ~¥tf51t1l ~ ~tfi~(U (D) ijl(lfMu ~ (iC(4ifl:tcu

111 Phlebotomus, a ·sandfly transmits the pathogen which causes one of the
~1011owingdiseases ?
-(A) Malaria (B) Kala-azar
,(C}typhoid' (D)- .Plague
'R"ft~GTq(1 ~ ~~cml( ~ WI t-' ~an= 'Cf))'~ t ?
(A) q(i\f'{ql (B) ~~~

(C) i1"'jd\$i(l (D) ~

113 World AIDS day is observed on :
(A), pt December (B) 5th,December
(C) 2nd Dece~ber ,(D) 25th ~mber
"~~~ ~ ~" ~ ~ lRl<fr ,~ t?
(A) 1 ~(1"( (B) 5 ~eRII{

(C) 2 f4:ijUJI< (D) 25' ~QRII(

··t31RlWADR_A] a42 [J _,J10 '{GM)tci •••
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114 BCGis a vaccine, which a.ctsagaill$tone, of the following diseases :
(A) Polio ' (ll)Pneumonia, '
(C) Tuberculosis, '.' '.' .•.•..., ,(I) Hepatitis, .,"
"afi.~.\;fr. ?5l &T, flfffi. iPr ~. ~i; ~ ~' ~ l '7
(A) ~aTr cii) ~tftp.,(41

(C) ~ (D) f$qal~flQ

115 Which of the following are plant-derived insecticides ?
(A) Nicotine, Pyrethrum, Rotenone, . Azadirachtin
.(B) Nicotine, Pyrethrum, Tcxophene, ·Azadirachti~ ,
(C) Nicotine, Pyrethrum, iDeltamethrjn, Azadirachtin
(0) Nicotine; Pyrethrum, Carbofuran, Azadirachtin
P!lOij·RwtRsad -q ~.' .<6R.~ ,~~llI) ~ "~ .~m t, ?;.
(A) ~tb"\lll'1,mWl, illl'1I'1, ~~fi1fiR'1
(B) ~q»)ll'1, ~'l1{, alcm'It6t'1, \:Qiilf$1PR:'1
(C)~c61l)'1, ~Wl, ~erlt.=r, 3f~~1~'1
(0) ~tbll11', -qwt~, Cblcif4'\{l'1, ~~fg1~'1

;it!

116 The bacterial inseqticide marketed for use against black-. files and
mosquito belongs to the subspecies :
(A) Bacillus thuringiensis tenebrionis
(B) Bacillus thuringiensis=israelensis
(C) Bacillus thuringiensiskurstaki
(D) '.Bacillus thuringiensis" aizawai
~ \1Ct. ~ ¥i~(ly CfiT.,~ ~ ~ rnJlJ -q \imrr "ilfA CffiiIT, ~qlJf{q(i1
~~llI) ~ \3QiJilfaC6T ~ t 7 .
(A) ~t[.n1fit((A1t1 ~~ (B) "dMtI ttfi;ffat"lAtff$IiI~MA1ff
,(C) "J1(f1tt W1.rtratqffeff 1uZfJ)1 (D) "W(flff'ln.rt{(;[q~ff«liIlql{

117 Indian one-homed Rhinoceros is found in the natural habitat ..()f :
(A) Jim .CorbettNstional Park (B) Bandhavgarh NationalPark
(C) "Kaziranga National Park ,(I» Dachigam National Park
cql{tll(4~-~ 'Cffi'IT. ~,~SlI,raq) ~-q '11tIT UffifT t 7
(A)"~'!'~"~~ (B) l(f~'~ ....'3ll"R

(C) Cbllifl(ill ~ 'i3"QR (D) <::I'cftil¥i ~"~

118 Scientificname of' 'fat flea is
(A) XendpsYI1a. C:~opis ,
(C) Pasteiifella" pestis'

. ~l ~.C6T ~i1I~q) 'ff1I' t'
(A) i1f)rt}C(1/t(tJlji·~dMWr
(C) q<i)'l~(fIf,,~

(B) Pulex irritans .
(D~ Cimex lectularis

(B) ~iR1 $fH"tI
,(D) ff1$4iR1 Mil''iMnff



119 Four major types of animal tissues a~e :
(A) epithelial, connective, muscle and nervous
(B) epithelial, glandular, muscle and nervous
(C) epithelial, connedi~e,glan.dular and nervous'
(D) epithelial, connective, fibrous and nervous
~i3lY ~,~. ~ qffi ~~, ~ t ~ ~t '.
(A) ,~irfu~, ~, ~~frq(flfT' dSlc6h~
(B) ~irfu~, ~~, ~~frq'a'lfT dSlcC1q
(C) ~irfu~t~t llf..tm (flfT dSlc6\~ ,
(D) ,~irfu~t ~t ai!~4 (flfT dSl~q 1•

122 Nerves are made upof -
(A) bundles ofaxons , (B) bundles of dendrites
(C) ) bundles of axons and dendrites (D) bundles of neurons
dfSiqml ~"'1~flsId t,~' &m ~ 't :

,(A) l{i'N1T~ (B) ~
(C) ~i'N1T;:{~ ~ (D) ""1\<T~

120 Animal tissue which is made of excitable cells, that 'are capable of
, contraction' is called :
(A) , nervous tissue . (B)' muscular, tissue "
(C) epithelial tissue (D) connective tissue
~"'1~fula ~ '-« rGA--« ~ \ij=d~d ~ ti!iR:lam ~'~~ 1T6 t ?
(A) dSlq,1q ~ (B) ~~~, ~
(C), ~~a«if ~ (D) ~. ~

121 .Muscle tissue contains numerous microfilamentscomposed of the contractile
proteins, which include
(A) actin and myosin (B) actin and, elastin
(C) myosin and elastin (D) actin and troponin
~~ftq ~'q;) ~ ~~~i3lY ~.f¥:;t- tit!it1~~futf~. ~ \ifffi t :,

, '(A), ~ ~ q/<~)~1~ (B) ~ l{ct ~(iflfi:l~

(C)~j(ll({l~ l{ct ~(iflfk~ (D) ~,~ ~'NU~~

123 Mucus secreting cells' found in stomach wall are :
(A) Oxyntic cells (B) Goblet cells
(C), Parietal cells ,(0) Chief cells
\ffi1U~ltf qft. ~'~ "tWfr ~ .qroft ~~ ~ ~ q;y' ,~.~ t :
(A) atlrMP.:tq; '~~ (B) ~ ~
(C) it {I~li.'f rnm~ (0) Tltt5~'

13/RUYAJ>R-"A]4Ii }'(€odt4.~.f



12. The mucosal evaginations found in' the smallIntestine whieh increase
the .nutrient absorptive surface are:
(A) plica and crypts (B) plicaandviDi
(C) villi and crypts (D) villi and sinusoids
~-~ 1l ~.~'.~ +<{q;)E114lOll' ,.f4!~i~ .~ -qqytllt i3lCr~iNar
t ftirq. -m "'C5T ~ ····Cfmft f. (fi~(qlt t :
(A) ~ ~ ~ (BI ~.~ ~

(C) ..~ ~ ~ (0) '~ ~ e'~\6,~e

125 The chief functional cells of the liver are:
(A) hepatic acinus (B) hepatocytes
(C) siriusoids(D) lobules
~ 1l ~ ~ CfRifr ~ (fi,qf~(fi 'C61ft~ t
(A) '"lJ"fff ~4\'HI (B) 'fl(k"\lij,~~e

(C). e'~"'l6,~,e (D) {'i'Ii!{(i'(1

. ' .
.126 The medulla. part of kidney consists of :

(A) loop of Henle and collecting .duct
(B) loop of Henle and renal corpuscles
(C) convoluted tubules' and collecting duct, ,
(D) loop of Henle and-glomerulus

. ~ ,(fiT ~ 'qJ1T iift . .q,\(i11 1l ~ iiflffit

'(A) m C6T ~ ~(hnu" 1~(fi1t{

. (B) .m 'Cf)r~~, ft';wr (fi1(Qe('(1

(C) ,U$\ltd "'~(fi,t{,~ ij~&u" 1~(fi1«t

(D)m ?fiT.~ ~. ioo4hii(ife

127 The Leydig .cells, located in t~ interstitial tissue of testis, secrete a
hormone called
(A) Inhibin .(B) Testosterone
(C) Progesterone (D) Oxytocin

~. t.~"tI(f~.,~t,~.q ~~m,~~ ~~I{'lI1;?6L~ .
qmft t.: . . ';n&

(A) ~1flnt"'f

(C) SfH'~<T1

13/lltJ¥A:DR_AJ

(B) ltzltl\ {I"'f
(D) -3t1cRftz) fu1
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128 The primary function of the skin pigment; Melanin is
(A) .to contribute to skin colour
(B) to filter. out ultraviolet radiations of Sun
(C) to play a role in the development of skin"allergies
(0) to defend body against .infections
mil -q .~ ~ ~ ~(i)P-1.,.qafcn C&T ~ .CfiW" t .
(A) (C(T.IT"tif i"1f ~ ~

(B) ~ ctft ~~ ~ ~ ~Tfu ctft \~ iIR"Il "

(C) (C(T.IT-q ~ m-q"q'*4'lui ~ ~

(D) ~m"tif ijg;)qui'f ~ .~

129 The chief. enzyme present in the gastric juice is :
(A) Amylase (B) Trypsin
(C) Pepsin (0) Chymotrypsin"
.~~ &m ma- ur -q ~ ~ crrm ~ ~OG1I_q t
(A) ~ql~(i)1j1 (B)" I{q~.,

130 Breathing is an
(A) Involuntary process controlled by medulla oblongata
(B) Voluntary process controlled by medulla oblongata
(C) Involuntary' process controlled by cerebellum
(D) voluntary process controlled by cerebellum
~~~ht:
'(A) " ~~fisCf) h ~i\S'\(i11 \34I&ff) ri)?;1 mr ~ti~d t
(B) ~ h 'ij1j) .i\S'\('I1 at 1&.'11·ll?OI&mP-14~d t
(C) ~~~Cf) h ~ ijf1~{i1q.&m Pltift>la t
(D) .~ A 'ij1j) ijf1~{i1q ~ ~ti~d l

131 The pacemaker of human heart js
(A) sinoatrial node (B) atrioventricular node'
(C) atrioventricular bundle (0) bundle of His

" ~ .. ~ ..'~ -q ~ ~."{fr ij(~'11 'qij~Cf)<,Cf)${i1131t ?
(A)ijl~'1l~~~ .~ (B) ~a()~~{i1( ~

(C) ~a()~Rtf(if(· W{J (0) ft'ff ~ W{J

< •• I~l2qyADR_A] ;\·~6i~ 5H: I(;CJ.p~···



132 "Ball, and' Socket" joints 'ate f6undm :
(A) shoulder and neck (B), wrist and elbow>]
(C) hips and thigh (D) hips 'and elbow
"~ ~.' ~". ~' ~ lft' -qrq ~ t :
(A) ~ ~ TJtof \ (B)~ ~ Fft
(C) . ~ ~ ~ (0) ..~ ~ ~.

J ,rY~ ~
133 Thyroid-stimulating hormone (TSH) is. secreted from. whish P9,r~ionof

pituitary gland ? '
(A) Adenohypophysis (B) Neurohypophysis
(C) Pars intermedia (0) .Epiphysis "';
tll<HI~.' \3~ {iti81('11'1 (TSH}fq<;<i\afl ,1Jfwq t ~ 'Wr "«~'~ ~ ?
(A) ~il"'81~4)'6I~~(1 (B) "i:(l",ql'6I~~R
(C) 1ffif~"'G{~f8AI (0) qq)'6f~rlH1

134 In females, the. secondary sexual-characters .are developed under the
influence of' a .hOl1,llOl),e.known as :
(A) Estrogen (B) Progesterone
(C) 'Testosterone (D) Prolactin
~ "1J . fMt~iti ~ iflffOT '~, &J<q"'I'1t V'frCr"« ~itifttd 'm-t ?
(A) ~~,ilt'1 (B) g1iJ)R <1'1
(C) lre){t)<T'1 (D) sfl~~'1

135 A steady level of glucose or sugar in the, blood is maintained by two
hormones secreted by pancreas, which are: ',' '
(A) Insulin and secretin (B) Insulin and thyrmcine,
(C) Insulin and glucagon (0) Insulin ,andepinephf~~

. . ",-~t~ -q ~TCirn...~ fur! ~ CfiT ~ ..m t ~~~W am ~
m: &I("'~ ..~ t : ' '
(A) ~"~J\it•.•~ RUbR'1 (B) ~1I~'1.~ tll<HffcR1'1
(C) ~~f\it'1 ~ A~~Alr'1 (D) ~~~'1, ~ ~cflq'6a4

136 Vitamin which is essential for protection ofbones, teeth and gums 'is :
(A) Vitamin A (B) Vitamin C
.(C) Vitamin B . (D}VitaminE
~, .~ ••.~. ~ ·ctt ~Iffi t ~ ~~~~~"""ZI~'~""";Y' tE·Ff

(A) ~GIfl1'1 A (B) ~Glf¥r. 'C
(C) ~Glfq'1 B . (D) ~Glfl1'1 E



137 Which of the following groupsof foods are rich' in calcium ?
(A) Milk, cheese, fish, leafy 'green vegetables
(B) Meat, eggabeans, leafy green vegetables
(C) Meat,bananas, tomatoes, leafy green vegetables
(P) Meat, fish, legumes, leafy green vegetables

~ ~ ~~~'i"'~dl~d -q '~ ~ t· :
(A) \~, m, ~, rlr 1"f6m ef&l1~i
(B) llfu", ~, ~, rlr ~ ef&fl~i
,(C) lffif, ~, ~, rlr lffim ef6:rt~i
(0) -qrn-, ~, ~, rlr ~ ijf&t~i

138 Human sperm cell is
(A) Uniflagellate and non-motile (B) Uniflagellate and motile ,
(C) Biflagellate and motile (D) Biflagellate and non-motile
~ qft ~ ~m.~ ~.:
(A) ~ tffiRi1(i11~ -qct ~

(C) 11;: tffi~{ill ~ -qct ~

(B) 1:fc6tffi~(i11 ~ -qct ,'~

(D) 11;: ~~(i11 .~. 1:{Cf ~

139 Animals with little yolk in their eggs, such as in humans. and other,
placental mammals, which "type of cleavage is present?
(A) Meroblastic and rotational (B) Meroblastic and spiral
(Cf Holoblastic and rotational (0) Holoblastic and superficial
~ Cf)1{, ~ "9:ffl ~ ~ .~ ~ ~ ~ ....~ ffi~q"'fin '~.
-q ~,~ lJ?mqrrmn t ? '
(A) tft fl&(iflfta(f) -qctY;"tlq&1 (

(C) &l(Ytl&(iflffl<b -qct' Y;'ilq&l<.

(B) 4't{")lsn'~<b -qct..~

(0). &/@&S1lfk<b tFi ~

140 A membranous sac, which surrounds and protects the developing
embryo in 'anhiiotes, is called
(A) Allantois (B) Amnion
(C)Choriol'l (0) Placenta
~~'~ :q fcrcrnf~fuir ~ q;) ~m 1RFf ~ ~11i~~&1( ~
<bij{illdl t:, . ,
(A) qtf\ '"i!T~e

. (C) ~~

'(B) ~iiR
(0) ~
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,141 Eggs In whichJhe yolk granul~~ are tfne, 'e~en1y distributed and the
amount of yolif,;'issmall ,are 'known as :
(A) OligoIeci~ (B) Telolecithal
(C) Centrolecithal (D),;.Heterolecithal
~""~' -q"tfffiq;~,.~ tflIFf wr -«lj ~ ~ ~'. C6VT ~
~,(6hUd 't:' ' ' ,
(A) ~4ih~(\1~ (Bj i)(fi),~(1~~
(C)e~',~~'Wf , (D) ~~()~«,~

142 The, number, }gizeand, shape. of the chromosomes ,of a somatic cell
arranged, .in a standard manner is called. their :
(A)Phenotype., (B) Genotype
(C) Karyotype '(I)) Idiogram
~,~~ -q eb)~ijl~*" ~, 11Ttr -qct. i3nCfm: qrr ~,~ -«

Pci'1'lH'I' ;·Mtlildl t" ="
(A) t6)~)GI~q (8) iJft;:fkl~q

(C) ~ <<:."'j~I~q (D) ~f$<{l~W'l

143 When a baby girlis born without the second sex chromosome (has
,chromosome 45+0),' then' she suffers from : . .
(A) Down's syndrome (B} Turner's" syndrome
(C) Klillefeltersyn<irome cD) Edward's syndrome
~ ,.wi' ~~TU. ~J~ ~ebl ••l(1)tt(~·m-q,,45tO '~r;"'I••1'(11,*,
11) t ~'"ffift t m ~ *" CffiifT WT '(6$(f11dl t
(A) ~ ~"4lq' (B,) ~ fu~lq
(C) '!cml~it~;(f?( ft1~lq '(D) ~'~~q

144 What is the full form of PClt ?
(A) Polymerase Chain ,:Reaction (B). Polymer~se,Chaih Restriction
(e) Polymerase Chain Revolution (D) Polymerase C~n Reduction
lft. ~.' \m"r. qrr VT,~~ t ? '
(A) qTJtq{1J1 tA ~R '(B) ql~"lq{1J1 tA '~~R'
(C) ql~1tt{1J1 ~. fhH(ft{\~R ' (D) qT~1q{1Jt ~ ftsq;~R

145 Viruses'liVing ihbacterlal cells are known as :
'(A) Macrophages (B) Bacteriophages
(C) Microphages (D) Cell phages
~qfJf\ql*" ~~%,'.~; • m~..~,,(6&(f11d ~
(A) i'f~)~\ij(1 , " (B) ~Cd1f{(if)Q;IJ1(1,

(C) ql~Sb",CbIJ1(1 (D) ,,~ ~
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147 The growth of population is expressed by two types of curves :
(A) Sscurve arid f-eurve (B) S-curve and V-curve .
(C) S-curve and If-curve. (0) I-curve and straight line
\J1.,ij&t041 ,~ ~ "QCfiIT t Cfi6l -« ~~Tfl 'i.Tffifr t :
(A) S-CRfi~' I-CRfi mu (B) S-CRfi ~ ..V-CRfi mu
(C) S-CRfi~' U-CRfi aru ' (0) I-CRfi l:fCf ~. ~. -mT

146 In man, thebirthrate is,u$u~lyexpress.¢'as>n\J~ber of births 'for every
"<.(A)~<lOOOpeople ..... " (B)" loa,people..

(C) 10 people (0) 10000 people
~ -q ~ eIQI;<Ht:'~rif \iffifr t
(A) ~. mr ~ 1000 ~(B) '~. ~ vftr 100 ~

(C)' ~ mr ~. 10 ~ (D) ~ msz:n ~ 10000 ~

.•,,-

148 Which one of the following is a correct pairing?
(A) Porifera - Sponges (B) Platyhelminthes -' Earthworm
(C) Annelida - Nematodes (0) Arthropoda -Seaurchins
~ -q -« ciA" -e1 ~ '6ft t ?

(A) qT~q;{1 - m
(C) qof\f(;fel - Pt~~$

~) ~1l,~;efi\J1 - ~~arr
(D) .\ffi~. - ~-~

149 The credit forpopularising the binomial nomenclature is given'to :
(A) K. Iorden (B) Ernst Mayer
(C) Aristotle (0) Linnaeus
iFfT1:r~cn1 SlT.I~d'crn- ifiT ~. Pberb\ ~ .\if1ffi t ,?
(A) t. ~ (B) ~. ~

(C) ~

150 Radially symmetrical animal phyla are
(A) Cnidaria ,and Ctenophora (B)
(C) Ctenophora and Annelida (0)
artN eq~d ..~~ t '~t
(A) ;f\cf{tU ~ l\<1'lei)(\

(C) ~;fjtb"j {I ~. q~~gl

Echinodermata and Annelida
Annelida. and Arthropoda

...

(B)~q)I~;f)'{~GI .~ q;f\~e\

(0) q4U~gl ~'anVfq)&y

13/RJI)'ADR_A]
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151 As plant wcref1~s in girthw~h ti~suejnqea~es in quality ?
,.,-"-',':,' ; "'>'jl" < .-0"~: :;: -. - . ':- .. -: ::- -... , -~'. $

(A) Sap wood . .' (B).Heart wood .
(C) Cortex (0) Phloem
~~·c6T~·~t ~m~·~lt1?IT-q~~ ?

l

(A) ~ ~ (B) aRt': ~
(C) Cf)~Cf(1 (0) ~

152 Removal of anthers from flower bud is known as :
(A) Emasculation (B) Bagging
.(C) Heterosis (0) Hybridization.
~ ~ -« 4wlCbltt PtIlq)I('f'1 C6&\i1ldl~ :

(A) ~ (B) ~-qa

(C) ~.~. (0) ~

153 Which one of the following perform the function of conduction of water
and minerals?
(A) Fibres (B) Parenchyma
(C) Tracheary elements. (0) Sclerenchyma
P1...,~furd ~ ~'~ ~ ~ ~ t ~ q)f 'C6FfC6«IT l?
(A) 01I (B) ~
(C) qII1Ptc6)~ 'ffiCf (D) ~ ~

154 In India rain forest are found in :
(A) Uttar Pradesh and Bihar
(B) Madhya Pradesh and Orissa
(C). Tamil Nadu and Andhra Pradesh
(D) Western Ghats. and Eastern Himalayas
'tl(dq~ ~ ~ CA· -qrq ilfffi l :
(A) ~·~~l "Om·~ ~. (B) ~ ~~l"Om ~ ~

(C) . dl~\i1'1I{"Om·'3TRl ~~l ~ (D) ~~ me "O'U~ ft"I\i1~~

155 Which is the smallest hydrophytic angiosperm ?
(A) Lemna (B) Wolffia
(C) Spirodella (0)- Hydrilla
~ -at .-~ ~-Ij((it"\I«fi:t~ \3I11d~1lft l ?
(A) A .(B) ~f(rv,41

(C) NHM&I (0) $~~(I11
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156 Which is the cause of air pollution ?
(A) Pesticides
(B) Noise
(C) Chemical discharge from industries '
(0) Smoke .
~ ~ tifiWlT \ :
(A) ~mi g (B) ~
(C) ~&)fllq) ~ ~ (0) ~~

157 The world environment days is celebrated on :
'(A) 7 April (B) 5 June
(C) 16 June (0) 6 August'

. ~~q cUdICl(UI ~,1Fmn ~, :. .
(A) 7. (B) 5~
(C) 16\iff (0) 6 ~'

158 ' Who coined the term bacteria ?
(A.) Louis Pasteur (B) Alexander Flemming
(C) Ehrenberg (0) Robert Koch
~~ ,.~' ~."ip:f ,~ ,-mY ~ 1Nf f.tT ?
(A) ,~" ~ (B) ~"oe( ~
(C) 'Q;«.,ilA .(0) ,~ ~

159 Baeteriophase is :
(A) A Bacteria
(B) Bacteria that infect virus
(C) Virus tbat 'infects and replicates wi,tWp bacteria
(0) A Ptutse in thelife cycle of bacteria
Gf.tcu~J1 i :
(A) ~,,~
(B) ~ iiIT ~ C6T ef6ll1d CfiUlT\

(C) '~··iiIT· ~ W eStillld q){ ~ ~ '$taT'
(D)'~ ~.,~ u c6J ~ ~.t

160 The development of Selaginella embryo is :
(A) Holoblastic , , (8) Discoblastic
(CjMeroblastic . (0) None of the above
fft(ijJf?;f4cw t ~~~ ~,t :
(A) '{d\'iil\ (B) ~~ii;Rr
(C) ~(O) a4{)qa.q 'B .1fM '1ft ~



163 Cotton fibre is obtained from:
(A) Roots
(C) Leaves
~ C6T 1:~TT~. ~i .':
(A) ~

(C) ~

(B) Stem
(D) Seed coat ~ .• ' " '<

161 The edible part of Litchi is :
(A) Mesocarp
(C) Seed coat
~ t ~ i1fR.~ ..cqpr t :
(A) ~ 1:fRift ~

(C) t{\iJtICl {Ol

(B) Thalamus
(D) Fleshy Aril

(B). ~lILIle'1

(D) ~~'

162 Major foreign exchange eamear for India is:
(A) Tea' (B) Coffee
(C) Rice' (0) Wlieat

, "11{dClI{ t ~.~ ~~iT ~P1Ji~ ~ ~ :
(A) ~ (B) .~.

(C) m;r (D) ~

(B) crff

(D) iftiltlCl (Ol

164 Which type of chloroplast. is found i(l spirogyra ?
(A) Girdle shaped chloroplast (B) Spiral chloroplast
(C) Discoid chloroplast (D) Stellate chloroplast
~ ~ C6T ~f{d(ilCl1:6 ~l$iJlJJ4a -q ~ ~ ~ ?
(A) ~ ~ C6T .~nd(ilCl1:6

(C) ~ ~f{dc:riCl'Cf)

(B) ,,9flIClGI{ ~nd(ilCl1:6'

(D) d I01:61 { ~f{d(il~ii6

165 "Pond silk" or "Water silk" is common name of which of the following ?
(A) Ulothrix (B) Oedogonium
(C) Spirogyra (D) Oscillatoria

",

'am- t~llT' "ql '~ 1:~1ll'~. -q~ ~ .~ "'11'J ~ ?
(A) ~ (B) fH)s)1}Pl4f1 , '

(C) . ~I$ ()lJI4 ([ . (D) I3IIff1M21R41
"54 .,;:.;.
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'166 Which it::~d in Funaria ?
(A) Capsule'
Eel .}Jtotonema
~n41 ..q:- ..••. i{\ilE((t4Cfi·t ?
(A) (1~I ..

(e) 1RFSI

(B) Columella
(D)S.a

- I.

(B) 'uf<~•••
(D) .wAftil. ttr

167 Main plant body of Bryophytes is :
(A) -Gametoph}ttes '
(B) _ Sp<)rophytes
(e) Both~QPhyies and sporophytes ..
.(0) Filament.ous .. ,

.''')'6''~'16fPt 'l111N~ , :
(A) S' ••~-
(8) .'"'!l~(
(e) .9:iMA~lf~.iJtl'!li3<ftI( v..T -
(0), ~.

168 Late blipt of POtatois due to .~'
(A) Albugo Candidii
.(Cl Alte17lQriQ solan;
~ • -,,,~fttd" '$.~. t
(A) ""*l,» •• ,(81
(e) i:MIR(t\f\~Ue).M"',

(B) Fusarium .moniliforme
(D) Phytaphthora;nlest~

, .."'

(B) ytAn4'1¥tJA<,!YJHfTJ
(D) '6,.<l""')U,.q,ta.~.

169 NetlrospOratselongsto
(A) Ascomy~es
(ej. Phycomycetes
"idN}(/ltq:~.
(A) q(1.n ••_~

<9> .I''''''el~

(B) Basidiomycetes
(D) .Deuteromyeetes

(B) iI.fttWiql,e\~
(1)) "..at~1""el~

170 eytopla$miC'connectiollsibetWeenadjacent cells are :
(A) Endoplasmic'retiCulum (B) Cell-wall
(<:;)Middle '18IJl~lla (D) Plasmodes~ata
~~. amPf·~~. ~ itl:
(A)aRY: wo4\', iiflfftitil (B) ~ ftm ,
(e) ••.,... (D) '+tltlq)Sqal

131!~...:A]SS



(C) Histone (D)' Actin

tr ·lff ~ cCr=r.~ trn~ -R ~ .-rn'ffi t· ?
(A) q('f~'1 (B) 1t't)~"~'1\

(C) ~. (D) ~

171 The following are; needed durms DNA replication :'

(A) DNA polymerase and tt~scriptas~
. ' .. i'o;}

(B) DNA polymerase and DNA Ligase

(C) DNA polymerase only
.'

.(D) DNA Ligase. o.yy
f9i'1R;t RSI¢t -q tr lff ~ 9)'1 <I<tfit c6T i3Wf~~ ~ t:
(A) tr lff -q 41J'liJ{1l1o~ ?C141~QIl1

(B) tr lff ~ q'I('IliJ{1l1'O~ ~ ('f1~~1l1

(C). tr lff .~4)(i{)iJ{1l1 ~

(D) ~~~.

172 DNA is associated with basic protein :

(A) Albumin (B) Glubulin
.,~

173 When a portion of chromosome gets lost, the process is called as :

(A) Duplication'" (B) Inversion

(C) Deficiency' ' (D) Tr~risiocatiol1

~ ~ qrr ~ 'q'TTf ~. ~ ~ t, ~ ~ Cf» ~. t :
~ ~'(A) lI:q -1'1 (B) !II (tI1'I'1.

(C) ~. (D) ~1'1lk\(UI

174 Howniany meiotic divisions would be required to produce 101 female
gametophytes irian angiosperm ?

(A) 26 (B)' 101

(C) 127 '. .. (0) ·.·~one of~l1e above.

~ ~1~51csi)~.t 101)3m gU",~'j<{ftl&t ~~~~ ~1ii~'1 c6T
i3Wf~~ ~ t? .

,,1,

(A) 26

(C) 127

l3IRUYADR_A]

(B) 101

(D) \jq ~Cffl -q ~~(:lflft
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(A) ~.,

(C)" ,(6(qI!t~(ffl

l~llYADR_A]

(B) tII~qH1

.(D) J'$H(J21
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175 Stomatal opening in. plants will decrease: .
(A) upon increase in light. intensity (B)' upon increase in <.:;02 SU~PbT
(C) upon mcreas~in water supply .(D) upon increase in K+ supply
~ -q ~-~ q;1J -m ~ :
(A) ~~m.~·iRRn~lIT (B) ~~~~lq<fJm$~lIT

(C) ~:~~.lf'{ (D)~K+~lFt>

176 2-4 D is a :
(A) . InSetticlde
(Cr' ~sticide'.·
2-4 D t :
(A) tI'l41~fr
(C) ..ifI~cfi'1l~

(B)'" 'Herbicide'
. (0) k Weedicide

(B) ~'TI"$#r~fr
(Df <?H4dqW:mfr

177 Plant devel,qpro~:nt·is influenced by :
: .~' , )1;'" -1 ';. . "

(A) Quality of light PnlY (B) Quality. and quantity of light
(C) Qualityand duration of light . (D) Quali1f,quantityanddura~?noflight

~·~·.~,&m ..~~I~d.~i? .
(A) ~~WT~mm (B) m~T~~,~~

(C) m~T~~'~ ~ (D) 'm~T~~, 1;100~ ~

178 Wood of Pinus is:
(A) Manoxylic. andlmmoxylous
(C) Pycnoxylic and bomoxylous

~~~~:

(A) Pc4{('I& I()Cb:d"trrelMt (iCb~

(C) EI'1<U(icff (fQJ e'1&I()Cf)

(B) Manoxylic and-heteroxylous

(D).' Pycnoxylic: and heteroxylous

(B) Pc4{(i1&I()Cb (fQJ ~~16Cb

(D) ~'1&I()Cb otrr Pc41lf'1&J.()Cb

179 Winged pollen grains are found in :
](A) Pinus (B) Cycas
(C)., Selag;nella (D) Cucurbita

"(1"q"18q(14ICbUI.-qrq.~ t :
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180 Winged seeds are found in :.
(A) Cycas
(C) Both CycQS'ang Pinus

~~~~t,:
(A) 61$q;6

. (C) 61,q;6~·.~ ~ .q

(8) Pinus
(0) Absent i~both

(8) fT1PffI

(0) WiY.q etlQftttftt·

1~1 Which are the parts of periderm in plants ? . . '
(A) Periblem,pheUogen,phelloderm(8) Perlblem,phellogen, plerome
(C) Phellem,phellogen,pheUoderm (0) Cortex, dermatogeiphelloderm
-cfrttt .q 1f1II _ $~ -« 1fpT'1la' t ?
(A) llt1f ~,1ti'PT~, C6J1T t'ffn (B) llt1f~. l611f .~, \SRr:-mr

182 'Wood" is a common name of':
(A) Cambium
(C) Phloem
.~ 'fit ~ ';:fTq t :'.
(A) a,fQjqq
(C) ~

(8) Vascular bundle
(0) Secondary xYlem

(8) ~ .•.••.

(0) Mqcs·.

183 The plants which bear fruits only once in its' life time is,.:
(A) Grapes (8) Banana
(C) Papaya (0-) Date
~iilTm~~-q~~1tm~~t: .
(A) ,~' (8) t\iIT

(C) ~ (0) ~

184 Ozone depletion in stratosphere shall result in :
"(A) Global warming
(8) Forest fires
(C) Increased incidents of skin cancer
(I)) JnGr~ incidents ofAsthama
~2t~qi .q .~ ~:i6lf .~ '-« WIT :

.(A) ~ ql(flj'1 (8) ~?fil' am
(C) ~$mcfi\"'~'~ (D) ~1&t~~

;



185 The study of various kinds of flowers isknown as:
(A) Olericulture . (B) Floriculture
(e) Silviculture " (0) Arboriculture'
~,~··t ~$'~ ~ ~,t :
(A) . (i~tll ~ ~ (B) ~ ~
(e) ~ (0) ?!~~

186 In pond ecosystem, pyramid of Biomass is:
(A) Upright (B) Inverted
(e) First inverted than upright Q» Anyof.the above
'~' ~-q ~ tfsr" CfiT~C1'qI(CfiT fq,fqg t.:
(A) -tt~ (B) \3m

(e) ~ \WGT m trm ' (D) ~'-« ~:'Ifr

. 187 Aflatoxins are produced by :
(Ar Vlrhs '
(e) Fungi
~.tf)(ifIGmffl"" ~ ~ :
(A) '~,~
(C) ,~,~

188 An infectious virus particles are :
(A) Viron
(e) ,.Mycoplasm.
(1et)liitb ~ qjUf,' ~ :

(A) ~.
(e) q;qq; sr&f

(B) 'Bacteria
(0) Nematodes

(B) ~,,~

(0) Pt~i)$ ~

(B) Virus '(

(0),. Bacteria , ,

(B) ~
(D) ~

189 Dehiscence of fern sporangium is by means of:
(A) , Sorus (8) Indusium
(e) Annulus (0) Tapetum
-q;!f ~~~CfiT ~~G"" ~,mu ~ t?
(A) ~~ ~';' ' (B) mn:r ltc::
(C) ~ (0) ~

190 A membranous, tongue-shaped structure is present at the base of the Ieaf is '
called as :
(A) Rhizophore (B) Ligule
(e) Ramentum (0) . Gemma
~t4tl'l'I,~ cCr' anqm: ~ ~ 1l-aT t ..;frtffi irm" -q' '''~,'~ t,
tb&(I1Id) ~ : . . '., ,.,

(A) <1~\~l\jq,T<
(C? ..~~~

.;jftmYjYADR_A]

(B);ij)~C61
(D) .~.



(B) ~tI~i)m)iMltifillid<vt

(0) .q<&•.•tf1 ~

191 Rennet is used in:
(A) Bread making
(C) Cheese making
~ q)f ~ mrrt :.
(A) ~M~.-q
(e) m~-q

(B) Fermentation.
(0) Synthesis of antibiotics

(B).~-q

(0) Slfd~Pciitil -«~~ -q.-
192 Which one is known as Indian com ?

(A) Sorghum vulgore .
(C) Zea mays .

cCR tIT 'i1<<fit4 ~ iti.8(f1ldl ~ ?
:(A) ffh1f7f ~

'(C) fijrlfT ~

(B) Triticum aestivum
(0) .Pennisetum typhorides

(B) ~i!Jq;Jf ~etlfJi'f

(0) q;:fltflZIIZI41b}4f$B
, "

.
193 The process -by which DNA nucleus passes information to RNA is called :

(A) Translocation (B) . Transcription
(C) Translation (0) Transduction
crl ~ ~. ID\T ~ ~ ~ ~, ~ ~ ·It Cb1-d~1~ t', iti8(f11<fi t :
(A) ?C1~(ii'C$~'A (B) ?Cien"liij •••

(C)' ?Cie~ij'" (0) ?C1;<ijgq:e•••

194 Genetic engineering is :
(A) . Chromosomal alternation
(C) Alternation of gene

~~~~Ptt4fi·1 l :
(A) ~ ~itil"t1 <Vi

(C) ,~ C6T ~itil"t1 <Vi

(B) Cytochromal alternation
(0) Test tube baby .

195 Heredity material of the plant cell is :
(A) RNA. (B) Chromosome
(C) DNA (0) Mitochondria.
~ c6t ~lC6l -q ~lC6"ffi ~ ..~ t :.

1

0' .[·(J··ontd ' , o-r·,· :',,- ', - ••• t

(A) am ~ ~
(C) tl' tfT ~

13/R'VYADR_A]

(B) .~

(0) ¥U~i)q;Tfl41



196 In F2 getief~ift\)f(ft}iybrid .sthe, ·•.••btof pea plants, y~o~ round,
... yellow Wi1nk:elea:¢~'iOuri(r'iiid gt-eeD'"WiinkeIed'seeds"wurbe :
.(A) .9: 4 : 3: 2 (B) 9: 3 : 1 : 3
(C) 9: 1 :3 : 3 (0) 9: 3 : 3 : 1
F2~ -q ftRrT SH1C6{OI'q;y lfl"tt ~ -q,~ q;y ~ ~ m, Tffiir ~~
~, ,1Jfrm' O"ff ~, 1fuiJ O"ffR ~~CJ~ "', :

(A) 9: 4 : 3 : 2 (B) 9: 3: 1 : 3
(C) 9: 1 : 3 :3. (0) 9: 3 : 3.: 1

197 In prokaryotes,the genetic material is :
(A) Linear DNA,with histones (B) Linear DNA without histones .

. (C)CircularDNAwithhistones (0) Circular DNA without histones
S4"\I(filrht\I~(1 -q ~'(q; mqir t :
(A) ~,~.~ -q't "«Ttl f&ti\~ (B) ~ ~ ~ -qt .~ f3tca~
(C) -qftqsr. ,~'~. -qt mtT f3(i)~. (D) ~ ~ ~ ~ t ~ ~ti\0(1

"

198 G4 plants have higher productivity than.C, plants due to : .
(A) Presence of kranz anatomy .
(B) Absence ·of' photorespiration
(C) High ATP consumption in CO2 fixation
(0) Low transpiration rates,
C4 ~ cfi)" \j«4Ic{C6dl, C3 ~ -« ~ ~t 'CfiR1Jl. t :
(A) .~ l{"'lT~q;y 1AT .

(B) W6T~ ~~q;y .~. ~
(C) CO2 ~ftq;<OI -q ~ ATP cfi)" WllO
(0) ql&:f1(tt~"·~ 161"C6lft

199 Which is responsible for shedding of leaves ?
(A) Acetic acid . (B) Abscisic acid
(C) Indoleacetic acid (0) Carbonic acid
~ ctm=r"«T ~ t ~ t i3'tt<&i4'tt?
(A) C\efaq; ~ (B) t{iSfefuC6 ~
_(C) ~w@'lM·Rt.lq; ~ (0) C6T<ai'tPtC6 ~

200 The maximum rate of photosynthesis is' in :
(A) Green light
(C) Yellow light .:
W6T~T~~-q~~t :
(A) -ro W6T~T-q
(C) ~ W6T~T-q

131RU'YADR A)

(B) Blue light
(0) .Ultraviolet Iight

(B) ~ W6T~T-q
(0). \3f~lqlqMGW6T~T -q

"61'" t'(Contd ••~
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INSJ'RUCTIONSREGARDINGMETHOD . lr~ t ~.~~

OF ANSWERING QUESTIONS M".

(Please use Blackball-point Pen) (f'1lIT Black ball-point t:r fliTm CIff)

< USEBLACKBALLPOINTPENONLY r 9 < UsEBLACKBALLPOINTPENONLY) 9
1 Method of Marking Answers : 1 i3'ffi'.~ ~ ~. :

To answer a question, please darken \ffi\ ~ t ~.:\5Il.~.'3TI'{. \ffi\ ~ftG
one bubble out of the given four, in If ~..qa' \Uif t ~ ~.~~
the OMR ArisMrerSheet against that 1ffinlf '« ~ ~ ~ q;).~ q;mr
question. ~ I

Valuation Procedure : 2 1MiCfi ••. ~. :

There are four alternative answers to a ~ ~~.••.t.;:rrt tf~ \ffi\ i',m' .
question, only one of them is correct. '« ~ \ffi\ mil ~~.••.C6T ~ \ffi\.
One mark will .be awarded for each ~ m ~~ aiifi ~yt(f mI ~
correct answer, if more than one bubble ~ ~ ~ ~ ~ ~ oT
are. darkened for a question, it will be ~tI· ~ .• t.>
presumed. that the candidate does not lfO lfAT ~ f$ -q"frlffi'effq;) ~~~ C6T
know the correct answer hence no mark ~. \ffi\ ..:;rt¥. ~ i .~.~ ~
shall be awarded. ~ ~ ~ ~ I

iftR ci'r ~ ~ 1f( ~

\re1: ~ "tit f.rm m.t ~ ~
~ qi{,« .1ft 7fQ- -.~ t .f.r~lT"fq;)
~ tf1lCJ ;;tvm I i3ffl: \ffi\ C6T
.1ffi;rr mt ~~ ..~~\ffi\ C6T~ .
mcr~141 '{4Cb ctit I

an.~. am. ftt·.~ imcI; ci'r·Wron :
(i)cfr~. q;) \ffi\. ~ftc:.~ t m-

~ Cf)\ ~. f$ ~. ~ftc:t
~ ~. "tIT WIfr· ~ M -<;Ill,
-fu;r~, ~«1i~,~~ .••.-~C6T
~, ~ ~ ~ "tft <fun-.
~ 1ft ~ i'l

(ii) trfr~. ~. trfr~eff .q;) ~~.••.
. ~ ~m'f ~ iffl"f qft ~
i'l .. .

2

3 Cancellation or Change in Answer: 3

4

It will not be possible to change the
marked bubble with black ball-point
pen; therefore, oorrect answer should
be carefully chosen before marking it
on OMR Answer Sheet.

Handing over of OMR Answer Sheet 4
to Invigilator :

5

(i) Please ensure.that all entries in the
answer sheet are filled up properly
i.e. Name, Roll No., Signatures,
Question Booklet No. etc.

(ii) CANDIDATESAREPE~ITIED
TO CARRY AWAY THE
QUESTION BOOKLET WITH
THEM AFTER THE
EXAMINATION.

Care in Wandling the OMR Answer 5
Sheet:

aTr.~.am..\fffi: ~fu:t ~ if ~lfr-ff:
\ffi\~ftc:C6T.w:wr~ -wrc:r. itT (ffi"
'« mqm;fr mI .~ ~, .~ "tit~ .~'« ~ ..••.m :e:

While using answer sheet adequate care
should be taken not to teat or spoil
due to folds or wrinkles.


